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OFFICE OF THE DEPUTY DIRECTOR OF SCHOOL EDUCATION,
Bangalore South District, Kalasipalya, Bangalore 560002
SSLC MODEL QUESTION PAPER -2024-25

Subject : I** LANGUAGE ENGLISH 14E

Time: 3.15 Hours Max Marks: 100

I. Four alternatives are given for each of the following questions/ incomplete statements.
Only one of them is correct or most appropriate. Choose the correct alternative and write the

complete answer along with its letter of alphabet. 6X1=6
l.Heis  richmanin ___ whole town.

a) an, the b) the, an c)a,a d) a, the

2. I expected a better performance him.

a) in b) from ¢) with d) after

3. You like me justas well, ~ ?

a) Don’tyou?  b)didyou? c¢)willyou?  d)does you?

4. Which of the following below expresses suggestions?

a) You will come and see us again

b) You may come and see us again

¢) You should come and see us again

d) You must come and see us again

S5.Thavenotime  with him.

a) to play b) to playing c) for playing d) playing

6. The word in which ‘mis’ is a part of the word but not a prefix is

a) Misjudge b) Mistake c¢) Misdeed d) Miscalculate.

II. Observe the relationship in the first pair of words and complete the second pair
accordingly in the following: 4X1=
4

7. Violent: Non-violent : : Fortune:

8. Sustain: maintain: : Scraped:

9. See: Sea: : Stare:




10. Decide: decision: : infect:

I1I1. Rewrite as directed. 3X1=3
11. Change the voice of the sentence:
Madhavi was cooking a nice meal.
12. Frame a question to get the underlined word as an answer.
Her only name was Babita.
13. Rewrite the following sentence using ‘So....that...not’
William played very cleverly. John couldn’t beat him.
IV. Answer the following questions in a sentence each 4X1=4
14. What according to the writer is the real elixir of life?
15. What thrills the present-day Indian-shoppers?
16. Who opens the door when Jean goes to get the Tart?
17. Where was the boat moored?

V. Answer the following questions in two or three sentences each. 7X2=
14

18. How can soil erosion can be prevented?
19. How did Mr. Pollock finally catch the ball?
20. Describe how stealthy act was committed by the boy?
21. What is compared to a “leech’ in the C.L.M poem? How is it a ‘Leech’?
22. Why was Cap. Smollet was unhappy?
23. Who were Cyclopes? How did Ulysses introduce himself to the Cyclopes?
24. What qualities of Lochinvar are highlighted in the poem?
VI. Rewrite as directed. 3X2=6
25. Give the other two degrees of comparison.

Very few people are as lucky as you.
26.Change the sentence to reported speech.

The stranger asked the young man “How much is the rent on your flat?”.
27.Combine the sentence using

a) As...soon...as



b) No sooner.... than
The train left the platform. Somebody pulled the alarm chain to stop.
VII. Answer the following questions in five to six sentences each: 6X3=18
28. Why did the Elders in workers’ paradise become anxious?
29. How is the callousness of the bird-killers brought out in the poem?
30. Summaries the poem “The Temple and the body”.

31. Write on Mahatma Gandhi’s comments on action prompted by the motive of happiness in
another world.

OR
How could the narrator, being blind describe Mussoorie?
32. Explain how the poet in the poem Sonnet 73 compares his age with the time of the year.
33. How does Duryodhana defend Karna against Bheema’s accusations?
OR
How does Lord Krishna save Arjuna from Karna’s arrows?
VIII. Explain with reference to the context. 5X3=15
34. “You have cut off your hair”.
35. “Once again, | had a game to play with a new traveller.”
36. “I really don’t see the necessity”.
37. “Good fence makes good neighbours”.
38. “Rash promises ever ends in strife”.
IX. Quote from memory. 1X4=4

39. Iwasangry ......ooevveviiiiiiiiiiiiinnn



.................................... all alone.

X. Answer the following in 7 to 8 sentences each: 3X4=
12

40. Contrast the harsh lessons that the poet-father wants his son to learn.
41. Explain how Pasteur try to solve difficult problems.

OR

Why are the gifts of the Della and Jim compared to those of “Magi”?
42. Why does the poet call Anne “a courageous leader”?
OR

Write a short note on the views expressed by the write on the ‘Tragic comedy of the
development’.

XI. Read the following passage carefully and answer the questions given below:
2X2=4

43. A cheerful person in happy and makes others happy, for cheerfulness is contagious like a
forest fire. Thus, a cheerful man is a benefactor of humanity. Cheerfulness does not mean
lectic or irresponsibility, silliness or riotousness. It is a sound and legitimate attitude which
results from perfection of our action. A task well done leaves us happy. The man who
believes in life is naturally cheerful. Whilst the man who believes in nothing or cares for
nothing can feel bored, frustrated and aimless. He drifts through life like a rudderless ship.

Questions:
a. What is true cheerfulness?
b. Who is an aimless person? Pick out the similes used in the passage.
XII. Write an essay of about 18-20 sentences on any one of the following topics. 1x5=5
44. a) Travelling- a learning experience
b) Role of teacher in moulding the personality of a student.
XIII. Imagine you are Sharan /Sharanya of Government High School, Mysore.
1x5=5

45.Write a letter to your father requesting him to send for three days school trip.

OR

Imagine you are Renuka /Ranjit of Government High School, Kolar.



Write a letter to the reporter to telecast your school annual day program in cable T.V.
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Four alternatives are given for each of the following questions/incomplete
statements. Only one of them is correct or most appropriate. Choose the
correct alternative and write the complete answer along with its letter of the

alphabet. [6x1=6]
1. The snake crawled the hole when it was chased the
people.
[The appropriate prepositions to be filled in the blanks are]
a) across, with b) of, on
c) into, by d) at, for
2. Each of the ministers their assets.
[The correct form of the verb to be filled in the blank is]
a) have declared b) is declared
c) was declared d) has declared
3. The boy won the bronze medal, ?
[The appropriate question tag to be added is]
a) does’t he? b) didn’t he?
c) does he? d) did he?
4. Heis Indian, but his wife is European.
[The correct pair of articles to be filled in the above blanks is]
a) the,an b) an, an
c) an,a d) a,a
5. Drive slowly, for pot holes on the road.
[The correct phrasal verb to be used in the above blank is]
a) lookat b) look out
c) look over d) look up

6. Only one of the given sentences is correctly punctuated. Identify it:
a) “Why are you so late for the meeting, Robert asked Anwar.
b) Why are you so late for the meeting, Robert asked Anwar.
c) “Why are You so late for the meeting, Robert asked anwar.
d) “Why are you so late for the meeting?”, Robert asked Anwar.



10.

11.

12.

13.

V.

14.
15.
16.

17.

18.
19.
20.
21.

22.
23.
24,

Observe the relationship in the first pair of words and complete the second
pair accordingly in the following [4x1=4]

Elude: Escape:: Ecstasy:

Root: Route:: Great:

Real: Unreal:: Comfort:

Conclude: Conclusion:: Discover:

Rewrite as directed [3x1=3]

Rewrite the following sentences as a third conditional:

You did not give me advance intimation. | did not attend your wedding.
Frame a question to get the underlined words as answer.

Ajay distributed thirty chocolates in the morning.

Change to reported speech.
“Sit down on the carpet,” said Savitha.

Answer the following questions in a sentence each [4x1=4]

Why did Jim stare at Della?

Why was Boone angry after catching the ball?

The writer refers to the catchy phrase, “Shop till you drop” in an advertisement.
What does it mean?

What does ‘thy science’ refer to?

Answer the following questions in 2 to 3 sentences each [7 x2=14]

What made the elders of the Workers’ Paradise anxious?

What does “spontaneous generation” mean?

How was the majestic neck humbled by the hunter?

Describe the exaggeration of the black and huge peak in the poem “The stolen
Boat.”

[llustrate on the statement “Buttoo revered Drona as his master.”

Why was Billy looking out to sea every evening?

How did Ulysses introduce himself to the Cyclope at the end of the story?



VI.

25.

26.

27.

VII.

28.
29.
30.
31.

32.

33.

VIIL.

34.
35.
36.
37.
38.

Rewrite as directed [3x2=6]

Change the following sentence to the other two degrees of comparison.
Very few poets are as familiar as Shakespeare.

Change the following sentence into reported speech.

The actor said to me, “Have you ever gone to theatre and watched the
Terminator lll movie?”

Begin the sentences using:

a) No sooner than b) Assoon as

| had closed my eyes. | fell asleep.

Answer the following questions in 5 to 6 sentences each [6x3=18]

What is the difference between a mechanical act and an intentional act?
Why do the vagabonds go back to the bakery after eating the pie?
Narrate the grief of the female Sarus Crane.
Describe the qualities of Lochinvar and bridegroom exaggerated in the poem
‘Lochinvar’.
What does “on the ashes of his youth doth lie” mean in Sonnet 73? Give brief
note on it.
How did Parasu Rama realise that Karna was not a Brahmana?

OR
“Once again, | had a game to play, a new fellow traveller”. Comment on this
statement.

Explain with reference to the context [5x3=15]

“But the moving finger even writes in heaven.”

“Give it to me quick.”

“Why don’t you look out of the window.”

“Good fences make good neighbours.”

“What have | done to keep in mind, My debt to her and womankind?”



IX.

40.

41.

42.

Xl.

43.

Quote from memory [1x4=4]

Therich
______________________________________________________ of gold

OR
Anditgrew. ..
.......................................................... mine
Answer the following questions in 7 to 8 sentences each [3x4=12]

What were the core values of Abraham Lincoln that he wants his son’s teacher
to teach his son? (Any eight)
“Water is the basis of all life.” Elaborate your answer.
OR
At the opening ceremony of “Pasteur Institute in Paris, Pasteur talked about
two opposite laws.
1. Which are the two laws?
2. Which one did he favour?
How did the German audience respond to the tragic play of Anne Frank?
OR
How does the ‘Uncertainty and disorganization” among the ranks of the
Invader’s add the humour?

Read the following passage carefully and answer the questions given below
[2x2=4]
There seems to be a general opinion in his country that Sardar Patel was
slightly of a harsh and rough temperament. Men call him the ‘lIron man of
India'. He was, no doubt, an Iron man in the sense that one could rely on him
for strict and efficient administration. But as a man, to those who had the good
fortune of coming into close contact with him, he was kind and considerate.



Xil.

44,

Xill.

45.

At times, he even became emotional, where his friends and followers were
concerned. However, it goes without saying that Sardar had the great skill for
organizing affairs. He knew the way of pricking people and putting them in
their proper places. Once he judged a man and found him correct. He trusted
him fully and got him to do anything he wanted.

Questions:
a. What lessons do you learn from the life of Sardar Patel?
b. What kind of a man was Sardar Patel in his private life?

Write an essay of about 80-120 words on any one of the following topics

[1x5=5]
a. Educating girls empowers women
b. The high cost of Global Warming

Imagine you are Manasa/Manohar of Govt. High School, Kolar.
Write a letter to your father explaining to him why you wish to join the
defence force of your country.

OR
Imagine you are Drushti/Dushyanth of Govt. High School, Mysore.
Write a letter to the Curator of a museum seeking his permission to visit the
museum along with your classmates. [1x5=5]
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I.  Four alternatives are given for the following questions. Choose the correct
answer and write it along with its alphabet. [6x1=06]

1. The girl did not understand his words,
[Question tag to be added is]

a) doesn't she? b) did she?

c) didn’t she? d) does she?

2. Mt. Everest is tallest peak in the Himalayas.
The appropriate articles to be filled in the blank.

a) A, the b) The, the

c) An,the d) The, an

3. The word in which ‘im’ is a prefix but not the part of the word is

a) immense b) imagery

c) immoral d) impression

4. To cut off a part of a person’s a infected body
Choose the correct one word of medical term

a) anatomy b) autopsy

c) antitode d) amputate

5. My boat went heaving through the water like a swan
The figure of speech used here is .

a) Alliteration b) Metaphor

c) Smile d) Personification

6. The manager appointed a new secretary and the old one.
The appropriate antonym of the underlined word is

a) reported b) dismissed

c) excused d) selected

Il. Observe the relationship in the first pair of words and complete the second
pair accordingly in the following [4x1=4]

7. Mortality: Immortality:: Noticed:

8. Check: Cheque:: Prize:

9. Menace: Threat:: Agile:

10. Gallant: Brave:: Stature:




lll. Rewrite as directed [3x1=3]
11. Change the voice of the sentence

The team had won the match.
12. Frame a question to get the underlined word as answer
Humour is mankind’s greatest blessing.

13. Use the phrase “on account of” in a sentence of your own.

IV. Answer the following questions in a sentence each [4x1=4]
14 What is the imaginary elixir of life?

15. When does the mending of the wall take place?

16.Who ran like “a pair of high stepping hackneys”?

17.What is the success story of Pepsi and Coca-cola?

V.Answer the following questions in 2 to 3 sentences each [7 x 2 =14]
18.How could the narrator, being blind, describe mussorie?

19.What details of the conversation between the baker and his wife help Jean in his
planning?

20.List out the four stages of a day which corresponds to four stages of man’s life in
the poem sonnet 737

21.What justification did Drona give for his unfair demand?

22.What is compared to a leech? How is it a leech?

23.How was Ben left marooned in the island?

24.Why did Ulysses and his men enter the habitation of the Cyclopes?
VI.Rewrite as directed [3x2=6]

25. Change into reported speech

Rupa said, “mummy, | am throwing a party for my friends next week.”
26.Give the other two degrees of comparison

No other boy is as tall as Ravi.
27.Combine the sentences into one using:-

a) too...to b) so....that

These apples are very cheap. They cannot be good.



VII. Answer the following questions in 5 to 6 sentences each [6x3=18]
28.The preservation and utilisation of water is fundamental for human life. Explain

29.What made Louis Pasteur believe that a cow could not have anthrax twice?

30. What ideas of spirituality emerge from the study of this Vachana?
31. Why did Mr. Frank take much time to publish Anne’s diary?
32. How does Bhima ridicule Karna? How does Duryodhana defend Karna against
Bhima’s ridicule?
33.The stolen boat experience creates lasting memory on the poet. Justify?
OR
How does the poet bring out the agony and desperation of the female crane in
the poem?

VIIl. Explain with reference to the context [5x3=15]
34. “Wait a moment! | shall come with you.”

35. “May be the hair on my head were numbered.”

36. “You have an interesting face.”

37. “l long woo’d your daughter, my suit you denied.”

38. “And into my garden stole when the night had veiled the pole.”

IX.Quote from memory [1x4=4]
39. lWas.
................................................................ did grow
OR
He staid ...



X. Answer the following questions in 7 to 8 sentences each [3x4=12]

40.
41.

42.

X1.

43.

Enlist any eight values that the poet requests his son’s teacher to teach.
Why does Gandhi say that moral act should be done without fear and
compulsion?
OR
Describe the experiment conducted by Louis Pasteur to show the difference
between pure and stale air?
Explain the gift brought by Della and Jim?
OR
Mention the causes and prevention of Soil erosion as described by CV Raman.

Read the following passage carefully and answer the questions given below
[2x2=4]

The term junk food means food that do not do good to the body’s health in any
way. It is less nutritional and harmful to the body system. Most junk foods
contain high level of saturated fats, sugar, salt and bad cholesterol. They easily
become used to taking soft drinks, wafers, chips, noodles, burger, pizza, French
fries, Chinese dishes and other varieties of fast food available in the market.

Questions:

Xil.

44,

Xll.
45.

a) What is the meaning of junk food? What does it contain?
b) List some of the junk foods mentioned in the passage. You can add more of
your choice.

Write an essay of about 80-120 words on any one of the following [1 x5 =5]

a) Population explosion
b) Adverse effects of social media on youngsters

Imagine you are Gopal/Gayatri of Govt. High School, Tumkur. [1x5=5]

Write a letter to your friend telling him/her about what you want to be
when you grow up and why.

OR

Imagine you are Veena/Venugopal of Govt. High School, Mysore.
Write a letter to the Commissioner, MUDA, highlighting the need of public
parks in your locality.
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I. Four alternatives are given for the following questions. Choose the correct answer and

write it along with its alphabet. (6x1=6)
1. "Love swells like the Solway, but ebbs like it's tide”, the figure of speech in the line is

A) Personification B) Metaphor C) Simile D) Alliteration

2. The Principal decided to the answers once again. The correct phrasal verb to be filled
in the blank is

A) go along  B) go through C) go into D) go away

3. Tarun was educated Kolkata..

The appropriate preposition to be filled in the blank is

A) in B) at C) of D) by

4 You aren't so lucky after all, .The question tag to be added is

A) weren't you? B) won't you? C) are you? D) were you?

5. The word in which ‘im" is a part of the word but not a prefix is

A) immoral B) important C) improper D) impolite
6. Mehek __ painting since morning. The appropriate verb forms to be filled in the
blank is

A has been B) have been C) had been D) will have been
Il. Anology : (4x1=4)
7. See : sea :: stare:

8. Decide: decision :: infect :



9. Violent: non violent : : Literate :
10. Sustain: maintain : : cascade :
I1l. Rewrite as directed: 3x1=23)

11. Change the voice of the given sentence :
The salad is being prepared by my mother.

12. Frame a question to get the underlined words as answer :
Ravi met his friend Rajeev during his flight to Delhi.

13. Combine the sentences using ‘too...to":
She is very small. She cannot perform on the stage.

IV. Answer the following questions in a sentence each : (4x1=4)
14. What does the writer compare water in a landscape to?

15. Why was Boone angry after catching the ball?

16. What thrills the present day Indian shoppers?

17. Where was the boat moored?

V. Answer the following questions in two - three sentences each : (7 x 2 =14)
18. How can soil erosion be prevented?

19. How did Mr. Pollack finally catch the ball?

20. Explain what brings smile on Ellen’s face and tear in her eyes?

20. "With trembling oars | turned, and through the silent water stole my way! What made the
boy tremble?

21. Why does the poet want the grave to keep shut in the poem CLM?
22. What did Jim and his mother take from the Billy's sea chest before they fled the inn?

23. Why did Ulysses and his men enter the habituation of the Cyclops?



VI. Rewrite as directed. (3 x2=06)

25. Give the other two degrees of comparison:
He is the tallest student in this class.

26. Change into the reported speech :
Priya said to her mother, “let me complete the puzzle before doing my homework.”

27. Combine sentences into one by using — a) As soon as and b) No sooner ... than.
The train left the platform. Somebody pulled the alarm chain to stop.

VII. Answer the following questions in 5 — 6 sentences each : (6 x 3=18)
28. Why did the elders in the worker's paradise become anxious?

29. "All good actions need not be moral actions”. When does a moral action become moral
act? Give an example.

OR
How could the narrator, being blind, describe Mussoorie?

30. How does the poet bring out the agony and desperation of the female Sarus crane in the
poem?

31. Give the summary of the vachana ‘The temple and the body'.

32. Explain how William Shakespeare compares the life of human beings to that of seasons.

33. When Karna appels to Arjuna’s sense of dharma, lord Krishna recounts many acts of Karna
and the Kauravas which violated fair play and chivalry. Pick out any two such acts.

VIII. Explain with reference to the context: (5 x 3 =15)

34. 'We have our hands full'.

35. 'Shall | put the chops on?”

36. 'He does not catch them, they give themselves up”.
37. "Oh, just another kind of outdoor game”

38. "I came here to learn thy science”

IX. Quote from memory : (1x4=24)



....................................... mine
OR
He staid ....ccccoooeveieieeee,
................................................ came late.
X. Answer the following questions in seven to eight sentences each : (3x4=12)

40. Describe how Annie’s diary open the eyes of Germans to the viciousness of racial
prosecution?

OR
“Man today is an unstoppable buying machine” — elucidate with examples.
41. How did Pasteur develop the idea of immunity? Explain.
OR
Why are gifts of Della and Jim compared to those of Magi?

42. What does Abraham Lincoln want his son to know about the people around him? How
should he respond to them?

Xl. 43. Read the following passage carefully and answer the questions given below:
1x4=4(2x2)

Rain water harvesting is the collection and storage of rain water, rather than allowing it to run
off. Rain water is collected from a roof-like surface and redirected to a tank, cistern, deep pit

4



(well, shaft or bore hole), aquifer or a reservoir with percolation, so that it seeps down and
restores and recharges the ground water. If needed, the water could be treated by following
any of the disinfection methods such as chlorination, ultraviolet light and ozonation. Thus
stored water could be used for various purposes later than allowing it to run off the gutters. It
can be used for irrigation, gardens, domestic purposes, vehicle washing, street cleaning, toilet
flushing, firefighting and livestock. It can also be used for drinking purposes and ground water
storage.

Questions :

A) What do you understand by rain water harvesting?

B) How can we use the stored water effectively?

XIl. 44. Write an essay of about 18-20 sentences on any one of the following topics:
(1x5=5)

A) Adverse effect of mobile phone usage.

B) Pollutions and protections.

XIIl. 45. Imagine, you are Sowmya / Sunil, studying in Government High school, Peenya,
Bangalore (1x5=5)

Write a letter to your uncle seeking his advice on what course to choose after completion of X
standard.

OR
Imagine, you are Vinay / Vijaya resident of Gayathrinagar, Bangalore.

Write a letter to the Sub — Inspector of the police station of your locality, requesting him to
arrange for patrolling in your area as there are too many chain snatching incidents going on
there.
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I. Four alternatives are given for the following questions. Choose the correct answer and
write it along with its alphabet. (6 x1=6)

1. "Fame shall sound thy praise from sea to sea”, the figure of speech in the line is
A) Personification B) Metaphor C) Simile D) Alliteration

2. The poem “To a pair of Sarus Cranes” is composed by

A) Toru Dutt B) Robert Frost C) Dr. Manmohan Singh D) Basavanna

3. | expected him, a better performance..

The appropriate preposition to be filled in the blank is

A) in B) from C) of D) by

4 Ramesh will participate in swimming competition, .The question tag to be
added is

A) wasn't he? B) won't he? C) did he? D) were they?

5. The negative prefix for the word ‘usual’ is

A) im B) non C) un D) mis

6. The package containing books and records last week. The appropriate verb forms
to be filled in the blank is

A is delivered B) was delivered C) are delivered D) were delivered

Il. Anology : (4x1=4)

7. Card : Chord :: ore:

8. move : movement :: prefer :



9. noble : ignoble : : violence :
10. Stern : strict : : stupefied :
I1l. Rewrite as directed: B3x1=3)

11. Change the voice of the given sentence :
The boys play cricket.

12. Frame a question to get the underlined words as answer :
Radha krishnan had his early schooling at Tiruttani.

13. Combine the sentences using ‘too...to":
Life is so beautiful that | cannot think of ugly things.

IV. Answer the following questions in a sentence each : (4x1=4)
14. Name the branch of science founded by Pasteur.

15. What did the narrator infer when the girl was startled by his voice?

16. Where is Gaultier supposed to carry the pie?

17. Why had Buttoo gone to Dronacharya?

V. Answer the following questions in two - three sentences each : (7 x 2 =14)
18. Why did the elders of the worker’s paradise become anxious?

19. How has shopping become more than a need?

20. Describe the callousness of the bird killers brought out in the poem 'To a pair of sarus
cranes'?

21. How does Buttoo show his reverence to Dronacharya?
22. Why had the doctor given pirates the stockade and the treasure map?
23. Why didn’t the fellow Cyclops help Polyphemus when he cried out for help?

24.How is the cuplets of the poem ‘Sonnet 73" is a fitting conclusion to the three quatrains?



VI. Rewrite as directed. (3 x2=06)

25. Give the other two degrees of comparison:
They are the most famous team in the world.

26. Change into the reported speech :
Suma said, “How lovely it is in the moon light!”

27. Change the following simple sentence into compound and complex sentences.
We stayed indoors due to rain.

VII. Answer the following questions in 5 — 6 sentences each : (6 x 3 =18)
28. The preservation and utilization of water is fundamental for human life. Explain.

29. Differentiate between a mechanical act and an intentional act.

30. Give reasons to prove that ‘only the test of fire makes fine steel’ according to Lincoln.

31. Give the summary of the vachana ‘The temple and the body'.

32. Summarise John Masefields sense of guilt in the poem CLM.

33. When Karna appels to Arjuna’s sense of dharma, lord Krishna recounts many acts of Karna
and the Kauravas which violated fair play and chivalry. Pick out any two such acts.

OR

“Louis Pasteur was not a soldier, but he was a fighter”. What does the statement mean?

VIIl. Explain with reference to the context: (5 x 3 =15)

34. It was like him. Quietness and value — the description applied to bothl’

35. 'She had to die because others had decided to destroy her race’

36. 'He does not catch them, they give themselves up’

37. 'l long woo'd your daughter, my suit you denied’

38. 'For so it seemed, with purpose of its own and measured motion like a living thing’

IX. Quote from memory : (1x4=24)

39. T WAS oo



X. Answer the following questions in seven to eight sentences each : (3x4=12)

40. What argument does the speaker give to convince his neighbor that they do not need a
wall?

41. How did Pasteur develop the idea of immunity? Explain.
OR
Write short note on the status quo episode

42. Give instances to show that the narrator tried his best to impress the girl during his
encounter with her.

OR

“Man today is an unstoppable buying machine” — elucidate with examples.

XI. 43. Read the following passage carefully and answer the questions given below:
(2x2)=4

April 02, 2015 celebrated the 200" birthday of the man known as the father of the
modern fairy tales, Hans Christian Anderson. He is the author of more than 150 stories,
“The little Mermaid”/ “The Ugly Duckling” and “The Emperor’'s New Clothes” to name a

popular few. Anderson was born in the slums of the Danish town of Odsense. His father
4



was a poor Shoemaker and his mother was a washerwoman. Anderson’s parents played
a very important role in paving the way for his career as ‘a story teller’. His father died
when he was 11 and he was forced to go to work. He apprenticed as a tailor and a
weaver and also go to grammar school when one of the directors of the Royal Theater
gave him a grant. Five years later, he completed his studies.

Questions:
a. Who is known as the father of modern fairy tales? Name his popular short stories.
b. Why was his childhood unhappy? What are the jobs taken by Anderson?

XIl. 44. Write an essay of about 18-20 sentences on any one of the following topics:
(1x5=5)

A) Importance of sports and games.

B) Importance of protecting forests.

XIll. 45. Imagine, you are Suma / Sunil, studying in Government High school, Yelahanka,
Bangalore (1x5=5)

Write a letter to your father requesting him to admit you to a sports academy during summer
vacations.

OR
Imagine, you are Vinay / Vijaya resident of Jayanagar, Bangalore.

Write a letter to the Sub — Inspector of the police station, requesting him to take necessary
actions against unlawful activities in your locality.



OFFICE OF THE DEPUTY DIRECTOR OF SCHOOL EDUCATION ,
BANGALORE SOUTH DISTRICT,
KALASIPALYA, BANGALORE SOUTH 560002

SSLC MODEL QUESTION PAPER-2024-25
Subject: Second Language English (31E)

Time : 3 Hours Max marks : 80

| . Four alternatives are given for each of the following questions /incomplete
Statements. Only one of them is correct or most appropriate. Choose the correct
alternative and write the complete answer along with its letter of the alphabet:
1X4=4
1. Choose the appropriate question tag and fill in the blank.
We enjoyed the party yesterday,
A)Don’'twe? B) Do we? C) Didn'twe? D) Does we?

2. Read the given conversation and choose the language function for the underlined
sentence.
Priya: Hi, Good morning Kiran
Kiran: Hello, very good morning Priya, What can | do for you?
Priya:If you don't mind, can | use your book?
Kiran; It's a pleasure. You can.
A) Giving direction  B)Seeking permission C)Advise D)Order.

3. Read the following conversation and fill in the blank choosing the most appropriate

words:

Dhanush: Hey Usha, why didn't you attend the class yesterday?

Usha: | was not well.

Dhanush: If you had come yesterday, you met my friend.
A)should have B ) would have C)will have d) wouldn't have

4.Read the following and choose the infinitive

Today we are going to eat in a restaurant.
A) Are B) Restaurant C) Going D) To eat
Il. Do as directed: 1x12=12
5. Which one of the following words has one syllable?
Remain, Behind, Lawn, Arrange
6.Combine the word in Column-A with it's Collocative word in column-B :
wp” «g”
Walking [bag, purse, stick, dress]
7.Fill in the blank using correct article:
Mr. Henry is European.
8.Fill in the blank with appropriate linkers :
Suman is very intelligent lazy.
9.Fill in the blank with appropriate prepositions.
She is interested learning new languages.
10 .Fill in the blank with appropriate tense form of the verb given in the brackets:
Raksha (be+study) in a government school.
11. Identify the parts of speech of the underlined word:
He is a truthful boy.




12. Write the correct form of the word given in brackets:

The teacher admired the [honest] of Ramya.
13. Use the word 'watch' as verb in a sentence:
14. Change into Comparative degree:

Ooty is the coolest place in India.
15. Change into passive voice.

Sarala sings a song.

16. Read the following Conversation and Change the underlined sentence into

reported speech: Policeman: What are you doing in the park?
Ravi:_ am walking with my doa.

Ravi replied

[11.17. The following paragraph has two errors. Edit the paragraph using clues given:
1X2=2
A poor woodcutter was cutting a big peace of wood. Sudden his old axe slipped from his
hand and fell into deep water.
A) Spelling mistake to be corrected
B) Adverbial mistake to be corrected.

IV. Answer the following questions in 2-3 sentences each: 7x2=14s
18. Why did Swami conclude that his father's proposition was frightful?
19. How do you say that Ambedkar was a voracious reader?
20. Why was Satish confined to bed?
21. How are scientists able to work in spite of political and cultural differences?
22. What qualities of a Jazz player do you appreciate?
23. Why did Patil, the sub inspector, come to Mohan's house?
OR
How did Dicky Dalma feel when she climbed the Mt. Everest?
24. How was life for Hanif always “ ekdam bindas”. Explain.
OR
What did the people in the poor area in Tibet suffer from?

V. Answer the following questions in 5-6 sentences each: 2 X 3=6
25. Give a brief account of how Baleshwar helped the girl on the tracks.

26. Describe the feelings of mother earth in the poem "I am the land" in your own words.
VI Read the following extracts and answer the questions that follow : 4 x 3 =12

27. Don Anselmo,” | said to him in Spanish we have made a discovery”..
A) Who is the speaker?
B) What was the discovery?
C) What makes you think that Don Anselmo was a man of principles?

28. "The first man to move shall spend the rest of the night in irons"
A) Who gave this warning?
B) What made the speaker give this warning?
C) What was the reaction to this warning?

29. "They could not believe their eyes"
A) Who is referred to as 'they’?
B) What was not possible for them to believe?
C) Why did they feel so?



30. "I will doze when | am sleepy and awake without a knock".
A) Who is the "I'"?
B) Where is he to have such a feeling?
C) Why does the person feel so?

VI. Given below is a profile, write a paragraph using the clues given below. 1X3=3

31. Name : Vikram Sarabhai
Born : August 1919 Ahmedabad
Nationality: Indian
Qualification:  BA, Ph.D (University of Cambridge)
Founder: ISRO, Indian space reas research organisation.
Known for: Indian space programme. Indian institute of management, Ahmadabad.
Awards : Padma Bhushan (1966) Padma Vibhushan (Posthumously 1972)
Died : 30 December 1971
VIII.32. Develop a story using the clues given below. 1X3=3
In a forest alion killing many animals everyday for food
animals assembled met the lion requested lion agreed sent an animal
each day it was the turn of a rabbit it feared thought of a plan went
to the lion told there was another lion the lion was angry come to
the well saw its reflection road jumped in to the well died Moral.

IX.33. Write a description or an account of what the picture suggests to you in a
paragraph. 1X3=3

X.34. Quote from memory: 1X4=4

OR



XI.35. Read the following passage and answer the questions that follow:  2X2=4

Once the Wind and the Sun had an argument. "l am stronger than you" said wind. "No, you
are not,"” said the Sun. Just at the moment they saw a traveller walking across the road. He was
wrapped in a shawl. The Sun and the Wind agreed that whoever could separate the traveller from
his shawl was stronger. The Wind took the first turn. It blew with all its might to separate the traveller
from his shawl. But the harder it blew, the traveller held his shawl tight. Now It was the sun's turn.
The Sun smiled warmly. The traveller felt the warmth of the Sun and let the shawl fall open. The
Sun's smile grew warmer and warmer, hotter and hotter. The traveller felt that he no longer needed
the shawl. He took it off and dropped it on the ground. The Sun was declared stronger than the wind.

Questions:
A) How did the Sun win the test?
B) How did the Sun and the wind decide to test their strength?

XI1.36 Answer the following question in about 8-10 sentences: 1x4=4

Ruskin Bond's grandmother had a unique character. Justify.
OR
How does the poet describe national beauty , ancient wisdom and technological progress of
India?
OR
Write in your own wards the substance of the poem "The Ballad of the Tempest".

XIl. 37. Write an essay on any of the following: 1X4=4
A)lmportance of sports B)Global warming C)National integration
XIV. 38. Write a letter using the information given below: 5

Imagine that you are Varun/Vani residing at Malleswaram,Bengaluru.

Write a letter to your friend informing about your preparation for the forth coming public

examination.

OR
Write a letter to the Manager of Syndicate Bank requesting him to open a savings account
in your name.
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I. Four alternatives are given for each of the following questions / incomplete.
Statements. one of them is correct or most appropriate. Choose the correct
answer and write the complete answer along with its letter of alphabet.

1x4=4

1. Choose the appropriate question tag and fill in the blank.

The teacher never comes late to school.  ................. ?
(A) Doesn'the (B)Does he (c)lsn'the (D) Did he

2. Read the given conversation and choose the language function for the

sentence:

Get down at K. R. Circle, Walk a few yards on to your left, you will find C.P.I's
office.
(A) Instruction (B) order  (c) giving direction (D) Suggesting

3. Read the given conversation and fill in the blank choosing the most

appropriate words.
Malini: Padmini, you said that you would buy a diamond necklace.
Did you buy it?
Padmini: Yes, | wanted to buy. | asked my mother to give me money. But she
didn't give. If mother had given me money, | ............ocooiiiiin
(A) would buy it (B) could buy it (C) can buyit (D) would have bought it

4. Read the following and choose the infinitive

Rama goes to school to learn well.
(A) goes (B) to School (C) tolearn (D) well



Il. Do as directed 12x1=12

5. Which one of the following words has one syllable:
Unity, Eye, problem, English
6. Combine the word in column-A with its column- B collocative word
A B
Wheel Stool, paper, book, chair
7. Fill in the blank using the correct article
Virat Kohli is------ best batsman.
8. Fill in the blank using suitable linker
Ramesh may come Monday------- Tuesday.
9. Fill in the blank with appropriate Preposition
She received a letter by post---- ten O’ Clock
10. Fill in the blank with appropriate tense form of the verb given in brackets-
|- (Be+go) by train yesterday.
11. Identify the part of speech of the underlined word
It was a golden opportunity.
12. Write the correct form of the word given brackets:
The Scientists were----- (Success) in their efforts to find a cure for the disease.
13. Use the word 'visit’ as verb in your own sentence
14. Change into Superlative degree:
Ooty is cooler than any other place in India.
15. Change into passive voice:
she is cooking food in the kitchen.

16. Read the following conversation and change the underlined sentence into
Reported speech

Riyan: Kiran, can you speak English fluently ?

Karan: | can speak English correctly but not fluently.

Riyan asked Karan . .........

lll. The following paragraph has two errors. Edit the paragraph and rewrite it in
the answer book. 1X2=2
17. Pasteur was deep interested in all the new experimants that were being
conducted in chemistry.
(a)adverbial mistake to be corrected
(b) Spelling mistake to be corrected.

IV. Answer the following questions is 2 — 3 sentences each. 7x2=14
18. Why do you think Don Anselmo did not sell the trees of the Orchard?



19. What reason prompted to call Dr. B.R. Ambedkar as a symbol of revolt
20. Do you consider Ananth a talented boy? Justify.
21. Give a few examples which illustrate the writer’s stand that scientists are the
most practical people in the world.
22. Describe the physical appearance of Jazz?
23. What was there in the mysterious parcel? what suspicion did the police have
about that?
OR
What can we learn from Dolma's life?

24. Life for Hanif was never a smooth sail in the beginning. Why?
OR
How can you say that the people in the poor unhappy area of Tibet.

V. Answer the following questions in 5-6 Sentences each. 2x3=6

25. Describe the bird that satish saw from the window. what effect did it have
on him?
26. Bring out the contrast between the speaker and the reader in the poem
‘I am the land ‘.

VI. Read the following extracts and answer the questions that follow 4x3=12

27. It is disgraceful sleeping beside his granny or mother.
a) who made this statement?
b) who slept beside his granny or mother?
(c) why did he sleep beside her?
28. Sister are you okay? But there was no response.
(a) who asked this question?
(b) why couldn't he get a response?
(c) who does sister refer to?
29. “Mutiny is an ugly word sir"
(a) when did the speaker make this statement ?
(b) what does Mutiny mean?
(c) why does the speaker make this statement?
30. There won't be calendar, there won't be any clock.
(a) Who made this statement?
(b) why would there be no calendars or Clock?
(c) when did the speaker say these words?

o~ o~



31. Given below is the profile of Smt Manorama. Write a paragraph using the

clues given below. 1x3=3.
Name: Smt Manorama
Age: 40 years.
Qualification: M.A in music
Occupation: Teaches music to Children of all ages
Reasons for popularity: Cheerful, gives individual attention
Hobbies : Doll making
VIIl. Develop a story using clues given below. 1x3=3

32. AKking was upset-- people lazy-- to teach lesson-- put a big stone in the
middle of the road --passed by- -no people removed the stone-- blamed
government- -one month later king asked soldiers to remove stone -- under
stone -- hundred gold coins-- box - decided not to be lazy—Moral

IX. Study the picture given below and write a descriptive account of what the
picture suggests you, in a paragraph: 1x3=3.

33

1980




X. Quote from memory: 1X4=4
34. The throned monarch ......................

always day.

XI. Read the following passage and answer the questions that follow. 2x2=4

35.  After his return from Africa, Gandhiji founded an Ashram in Gujarat. Then Ashram
was open to all people, provided they were prepared to lead a simple life and work
with their hands. Gandhiji encouraged people to spin their own cloth. In Those days,
some people were considered to be untouchables, as they belonged to lower
castes. Gandhiji admitted these people into his ashram, lived with them and ate
with them. He called them Harijans which means “ People oofm God”. He said that
all men are made equal by God and there should be no difference.
1. Mention in which way Gandhiji encouraged people to work?
2. According to Gandhiji, why should there be no differences among men?

36. write the summary of the poem Grandma Climbs a Tree

OR
How does the poet wish to praise Mother India.
OR
Write in your own words the substance of the poem Ballad of the tempest.
Xlll Write an essay on any one of the following: 1x4=4

37 a. Environmental pollution.
b. Mobile and its uses.
c. Unemployment.
XIV. Write a letter using the information given below. 1x5=5
38. Imagine that you are Kiran/ Kavya, studying 10™ Standard in Government
High School, Mysore.
Write a letter to your brother requesting him to attend yoga classes for good
health.
OR
Write a letter to the Bank Manager, requesting him to open an account in
your name.
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I. Four Alternatives are given for each of the following Questions /incomplete
statements. Write the correct or the most appropriate answer in the space provided
along with its letter of alphabet 4x1=4
1. Choose the appropriate question tag and fill in the blank.

Shilpa writes notes everyday ...................oeeenee.

a) Does she? b) Isn’t she? c) Is she? d) Doesn’t she?

2. Read the conversation and fill in the blank choosing correct ‘If Clause’
Kiran : Praveen, why did your team not perform well?
Praveen : If we had better guidance, We .........ccccccoovevieeiiiieinenne. won the game.
a) would  b) would have c) shall have d) can

3. Read the conversation and choose the correct infinitive.
Raghav is preparing a speech to address the audience.
a) preparing b) a speech c) to address d) audience

4. Read the given conversation and choose the language function for the underlined sentence

Basava : Hello Mohan, how is your health?
Mohan : Doing well now. Would you mind sharing your notes with me?
Basava : Sure, complete your work and return it tomorrow.

a) Expressing ability  b) Making a request ¢) Giving an order d) Giving suggestion

Il. Do as directed 12x1=12
5. Fill in the blank with appropriate tense form of the verb given in the bracket.
Computer Science is the most ............. (prefer) subject by students.
6. Fill in the blank with appropriate preposition
India became an independent country .......... 15th Aug 1947.
7. Fill in the blank using suitable linker
Kumar has failed in the exam ............. he did not study hard.
8. Fill in the blank choosing the appropriate words given in the bracket
The .. (night/Knight) is colder on winter days.
9. Combine the word in the column ‘A’ with its collocative word in Column ‘B’
A B
long (small, hen, run, food)

10. Identify the part of speech of the underlined word:
| need some water to drink.

11. Which one of the following word has three syllables?
computer, morning, carry, fortune




12. Write the correct form of the word given in the brackets
King Rana Pratap was more ................ (courage) than the people thought.
13. Frame a question to get the underlined word as answer.
Kumar purchased a new house last year.
14. Read the given conversation and change the underlined sentence into passive voice.

Ranjan : Hey do you know about Aruna Asaf Ali?
Rani : No, what is great about her?
Ranjan : She unfurled the national flag.

15. Change the following sentence into superlative degree.
Khushi is a tall girl
16. Use the word ‘travel” as verb in a sentence of your own.

I11. 17. The following paragraph has two errors. Edit the paragraph and rewrite it in
the answer book. Clues are given. 1x2=2
As soon as Geetha received the message, she lefted in a taxi and came to the playground.
Her son was playing with some childs. She thought her son was not injured.
Clues:- a) Verbal mistake to be corrected
b) Correct plural form of noun to be used

IVV. Answer the following questions in 2-3 sentences each. 7x2=14
18. As silence deepened in the room, what was Swami reminded of?
19. What are the significant observations of Dr. B R Ambedkar on the constitution?
20. What attempts did Smitha make to fulfil Anant’s wish?
21. Why does Keillis Borok say, ‘Scientists are the most practical people in the world’?
22. According to the poet, how does the Jazz player use his saxophone?
23. Why the police, Babu and Manju were bit disappointed about the way the student march?
(OR)
What are the hardships Dicky Dolma faced in her early life?
24. Haneef was a young man with varied talents and interests. Justify.
(OR)
What hardships did Wangjia undergo on his way to find the Bird of happiness ?

V. Answer the following questions in 5-6 sentences each: 2x3 =6
25. Give a brief account of how Baleshwar helped the girl on the tracks.
26. Describe the feelings of the Mother Earth in the poem “I am the Land”.

V1. Read the following extracts and answer the questions that follow: 4 x 3 =12
27. “We would buy, and the money was ready.”

a) Who does ‘we’ refer to?

b) What did they buy?

c) Why did they want to buy it?

28. ““My son is not dumb sir!”’
a) Who made this statement?
b) Whom was this said?
¢) What made the speaker say this?




29. “There are limits to patience, Sir.”
a) Who made this statement?
b) Why did he say so?
¢) When was it said?

30. “With tea cups circling round me like the planets round the sun.”
a) Who is the speaker?

b) Where does the speaker experience this?
¢) Why do tea cups circle around that person?

VII1. Given below is a profile of Dr Sharon, write a paragraph using the clues 1x3 =3

31. Age . 37 years
Quialification : M.Sc., Ph.D.
Occupation : Professor in Physics in Delhi University
Hobbies : Watching birds, reading magazines
Reason for popularity : Soft spoken, Warm hearted and love to help students.
Academic Achievements  : Paper presentation on “Waste Management”
Author of book : “‘Ecological Crisis’.
VII1I. Develop a story using the clues given below: 1x3=3

32.  Anold woman- greedy- a goose in her house- golden egg- every day sold- her living

becoming very rich- thought- hundreds of golden eggs- its stomach- killed only one
egg- lost what she had.

IX. Study the picture given below: 1x3=3
33. Write a description or an account of what the picture suggests to you in a paragraph.

X. Quote from memory: 1x4=4

34. The quality My day or night
(OR)

and him that takes. always day.




XI1. 35. Read the following passage and answer the questions that follow: 1x4=4 (2x 2)

Ashoka and his victorious army returned home after war with Kalinga. When Ashoka
was back in his Palace, he sent for his chiefs and councillors. Standing before them he said
“I have seen the horror of victory”. I shall not draw the sword again expect to defend my
country against, invasion. My dreams are broken and dead, but today | begin a new dream.
Instead of battle, I will give my people safety for swords and spears. | will give them
ploughs and implements of fields. So began the great reign of Ashoka. He now gathered a
vast army but it was an army of workers, he now dotted the arid plains of India with wells.
Over his lands he planted innumerable trees giving shade to the hot and gardens. About his
vast country it was said a woman and child might go in perfect safety for his laws were
wise just and fair.

Questions:

a. What did Ashoka wish to give his people instead of swords and spears?

b. How could the women and children of his kingdom go in safety?

XI1. Answer the following question in about 8-10 sentences: 1x4=4
36. Describe the tenacity of the grandmother in attachment with the tree.
(OR)

What are the various things that the poet Gokak wanted to sing in praise of the
country?

X111 Write an essay on any one of the followings: 1x4=4
37. a) Environmental Pollution.

b) Health is wealth.

c) Uses of Internet

XIV. Write a letter using the information given below: 1x5=5
38. Imagine you are Karthik/Kavya, X Std., Govt. High School, Hassan.

Write a letter to your friend inviting him/her to the sports day celebration in your

school.

(OR)
Write a letter to the Gram Panchayat President complaining about bad drainages in
your area.
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Four alternatives are given for each of the following questions or incomplete
statements. Only one of them is correct or most appropriate. Choose the correct
alternative and write the complete answer along with its letter of alphabet. 4X1=4

1. Choose the appropriate question tag and fill in the blank:
Swami caught the tiger, ....................
A) didn’t he ? B) wasn’the? C) don’the? D)isn’t he ?
2. Read the conversation and fill in the blanks with correct ‘IF clause’
choosing from the given alternatives:
Reporter : Sir, What made you choose arts as your career?
Satish : | was left with no other choice, If | had not lost the power of
hearing
I become an artist.
A) would have B) wouldn’t have C) must have D) will have
3. Choose the passive voice of the sentence given below.
Latha is learning French this year.
a) French will be learnt by Latha this year.
b) French is being learnt by Latha this year,
¢) French has been learnt by Latha this year.
d) French had been learnt by Latha this year.
4. Read the conversation and choose the language function for the underlined
Mom : Where are you going Suma? Suma :
Bank mom.
Mom : Then. Go with your brother. Suma :

Yes, mom.
a) Order  Db)request c)advice d)obey

I1. Do as directed. 12X1=12
5. Which one of the following words has one syllable?

a) Ordeal b) tenuous c) impulsive d) book



6. Combine the word in column A’ with its collocative word in column B’.
A B
Gentle [ damage, race, board, rain]
7. Identify the part of speech of the underlined word.
My brother is naughty.
8. Fill in the blank using correct article,
He has been waiting for.................. hour.
9, Fill in the blank with appropriate ‘preposition’.
Veena passed the book ..................... Priya.
10.Fill in the blank using suitable linker.
Namratha is a famous doctor. She didn’t want to charge much ......
she is very rich.
11. Fill in the blanks with appropriate tense form of the verbs given in
bracket. Encyclopedia ............ (give) us basic information on every subject.

12. Write the correct form of the word given in the
bracket: The teacher admired the ..( honest ) of Ravi.
13.Use the word ‘decide’ as a noun in a meaningful sentence of your own..
14.Change the following sentence into superlative degree.
No other fruit is as cheap as banana.

15. Read the conversation and change the underlined sentence in to
reported speech.

Ramesh : How are you behenji?
Sumana : I’m fine, Thank you, You have saved my life. Sumana
thanked Ramesh that...............................
16.Frame a question to get the underlined word as answer,
Suraj carried a cane.

I11. The following paragraph has two errors. Edit the paragraph and rewrite it in
The answer book. 1x2=2

17 On returning home, Baba Sahib came to be great influenced by the life and
work of Mahathmaphule, the votary of the classless society and women's
uplift.

Clues: a) Adverbial mistake to be corrected.
b) Apostrophe to be used.



V. Answer the following questions in 2-3 sentences each: 7x2=14
18.Why did Swami’s father want him to sleep in the office room?

19. How did Dr, Ambedkar and Mahatma Gandbhi try to wipe out caste
discrimination from India?

20. Satish did not want to go to a new school. What was the reason?
21.Why did some people choose to become a scientist?

22. Why do you think the Jazz player keeps his head down?

23. Babu and Manju were a bit disappointed with the way students were marching.
What was the reason?

OR
What can we learn from Dicky Dolma’s life?
24. Haneef was a young man with varied talents and interests. Illustrate this
statement drawing support from the text.
OR
What changes came over Wangjia as the bird of happiness caressed him?
V. Answer the following questions in 5-6 sentences each: 2x3=6
25. How did the tempo truck driver play a vital role in saving Roma’s life?
26. Bring out the contrast between the speaker and reader in the poem “ | Am
The Land”.
V1. Read the following extracts and answer the questions that follow. 4x3=12
27. “The trees in the orchard are not mine”.
A)Who is the speaker?
B)Who did the trees belong to?
C)Why did he feel so?
28. “They could not believe their eyes”.
A) Who does “they” refer to?
B)What was not possible for them to believe?
C)Name the lesson from which the extract has taken. ?
29. “Why should one man have the lives of fifty in his hand?
A)Who is the speaker her?
B) Who does ‘one man’ refer to?
C) What does he mean by this statement?
30. “ I will doze, when I’'m sleepy and awake without a knock”.
A)Who is the speaker here?
B) Where is the speaker to have such feeling?



C) Why does the person feel so?

VII.
31. Given below is a profile. Write a paragraph using the clues below:
Name : Bhashyam 1x3=3
Date of birth; 6™ June, 1980.
Place : Sanagli.
Qualification : MBBS. MD.
Profession :  Doctor.
Family : Wife, a son and a daughter.
Hobbies : Playing cricket, writing poems.
Popularity:  Treats the patients and charges less, known as the relative of
the poor.
VI
32. Develop a story using the clues given below. You may add some more
points if necessary: 1 x3=3
Inavillage ........ a clever elephant there ...daily... passing by a tailor shop.. the
tailor ..... banana daily. One day not given banana...... Pricked needle. Elephant
angry..... came with muddy water in its trunk. Sprayed....... tailor’s shop dirty.

he repented.

33. Study the picture given below. Write a description or an account of what the
picture suggests to you in paragraph: 3




VIII,
34. Quote from memory:

0

“The quality........cooeviiiii e,

OR

XI. Read the following passage and answer the questions that following: 2x2=4

34. A long time ago there lived a boy named Arjun in a village. He was very
happy with his family. But his happiness could not last for long. Arjun and his
fellow villagers faced sever draught. They desperately waited for rains but with
no luck. All the crops, land even the trees dried up.

The stream was drying up slowly. One day during a meet with his villagers,
Arjun said, “Friends, we all have heard tales from our grandparents about an
underground river flowing through our village: Why don’t we dig and see”?

The villagers agreed and started digging. Arjun also joined them. He kept
encouraging them and kept on digging. After a few days, when they had dug deep
enough, they saw water! Arjun’s positive thinking and their hard efforts saved the
whole village. Now they are never short of water.

a) How did the draught affect Arjun’s village?
b) How did Arjun enable the villagers to get water and save themselves

XI1. Answer the following questions in about 8-10 sentences: 1x4=4

36. Why do you think that Ruskin Bond’s grandmother was grown up women with
childish habits and desire? Substantiate.

OR
How does the poet paint a beautiful picture of motherland in
“The Song Of India”?
OR
In the poem ““ Ballad Of The Tempest” poet highlights faith
and hope. Illustrate.



XIII. Write an essay on any one of the following:
37. A) Environmental pollution
B) Mass media

C) Preventive measures to control dengue fever.

XIV. Write a letter using the information given below:

38. Imagine that you are Kamala / Komal studying in 10" standard Government
High School, Vijayapura.

Write a letter to the bank manager, requesting to enable you to open a savings
Bank Account. State reasons.

OR

Write a letter to your father describing your preparations for the exams.
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I._ Four alternatives are given for each of the following questions/incomplete statements.
Only one of them is correct or most appropriate. Choose the correct alternative and
write the complete answer along with its letter of alphabet. 4x1=4
1. Choose the appropriate question tag for the statement:
Radha is writing a letter........ccoevvvevevcrienenene.
A) Isn’t she? B)wasn’tshe C) didn’t she? D) doesn’t she?

2. Read the given conversation and choose the language function for the
underlined Sentence:
Sana: Hi, how are you?
Hasmukh: | am fine.
Sana: How do you go the library?
Hasmukh: Go right, turn left and you will find the Library.
A) Agreeing B) Offeringhelp C) Seeking direction D) Requesting

3. Read the following conversation and fill in the choosing the appropriate words:
Rakesh: How did you reach school today?
Swapna: | reached by walking, because | missed the bus.
Rakesh: Oh, if you had left home early you caught the bus.
A) would have B) wouldn’t have C) shall have D) should have

4. Read the following and choose the infinitive.
Raju has become a doctor to serve the sick.
A).has B) become C)toserve D) sick

Il. Do as directed: 12x1=12
5. Which one of the following words has one syllable?
A)ago B)about C)company D) School

6. Combine the word in Column-A with its collocative word in Column-B:
A B
Railway (theatre, station, room, area)

7. Fill in the blank using the correct article:
Sunder is old man in the village.



8. Fill in the blank using suitable linker:
Mona bought fruits vegetables.

9. Fillin the blank with appropriate prepositions:
My birthday is 7t December 2008.

10. Fill in the blank with appropriate tense form of the verb given in brackets:
Suma (be+go) to school regularly.

11. Identify the parts of the speech underlined word:
Swami is a clever boy in the class.

12. Write the correct form of the word given in brackets:
India is (develop) country.

13.Use the word ‘start’ as verb in a sentence.

14.Change into superlative degree:
Ganganagar is hotter than any other city in India.

15. Change into passive voice:
Madhu is singing a song.

16. Read the following conversation and change the underlined sentence into reported
Speech:
Satish: Where are you going during summer vacations?
Mahesh: | am going to Mysore.
Satish asked Mahesh ...

ll. The following paragraph has two errors. Edit the paragraph and rewrite it in the answer
Book: 1x2=2
17. Mahatma Gandhiji was born at porabandar in Gujarat. He was born in 2" October
1869.
a) Capital letter to be corrected.
b) Preposition to be corrected.

IV. Answer the following questions in 2-3 sentences each: 7x2=14
18. How was Swami honored by his classmates, teachers and headmaster?
19. Why did Nehru choose Dr. Ambedkar as a law minister?
20. How did Satish met with an accident?
21. Why did super powers meet in Geneva?
22. Write a short note on the physical appearance of Jazz.
23. What was there in the mysterious parcel? What suspicion did the police have about to?
OR
How has Dolma described her preparedness for the task of scaling Mount Everest?
24. Life for Haneef in the beginning was never a smooth snail. Why was it so?

OR

What changes came over Wangjia as the bird of Happiness caressed him?




V._Answer the following questions in 5-6 sentences each: 2x3=6
25. Dalai Lama says “Love and compassion are the true religious to me. But to develop

this, we do not need to believe in any religion”. How does this relate to the lesson

There’s a Girl by the Tracks?

26. How does the poet Marina de Bellagenta explain the patience and self-assertion of the

Land?

VI. Read the following extracts and answer the questions that follow: 4x3=12
27. “We have made a discovery.”
a. Who does ‘we’ refer to?
b. What was the discovery?
c. What was the result of the discovery?

28.  “ltis the chance of a life time.”
a. Who is the speaker?
b. What was the chance of a life time?
c. Why did he say so?

29.  “Why should one man have the lives of fifty in his hands?”
a. Who is the speaker?
b. Who does ‘one man’refers to?
c.What does the speaker mean?

30. “There won’t be any calendar, there won’t be any clock.”
a. Name the poem from which these lines are taken?
b. What does “these” stand for?
c.Why wouldn’t there be any calendars or clocks?

VII. Given below is a profile of Mr. Muniraj. Write a paragraph using the clues given below:
31. Name: Mr. Muniraj

Age: 40

Place: Mandya

Occupation: Teacher

Education: M.A.B.Ed.

Work place: Mysore

Qualities:  loved his job, very kind and helping others

Hobbies: Reading books, writing stories and gardening

Vill. Develop the story using the clues given below: 1x3=3
32. A grasshopper---merry---summer---sang and dance---ant worked - stored food----

grasshopper told ant----beautiful days --- Stop and enjoy-----ant still worked-----came winter ---
no food ---- grasshopper ----- Starved----came to ----ant ----help ----ant told ---dance the winter

away ------- Grasshopper learnt a lesson.



IX. Study the picture given below: 1x3=3
33. Write a description or an account of what the picture suggests to you in a paragraph.

Pat Ben Kim Hugo

1]
|

X.Quote from memory: (Four lines) 1x4=4
34. Itisenthroned

seasons justice.

OR
Then let not
blind boy.
XI. Read the following passage and answer the questions that follow: 1x4=4 (2x2=4)

35.Narendranath was born on 1863.He was the son of Vishwanath Datta, a well known
Lawyer of Calcutta. Mother was Bhuvaneshwari Devi. Vishwanath Datta was known for
Charity and was respected by everyone. Bhuvaneshwari Devi was a pious lady and a
Good storyteller too. Naren learned the epics and puranas from his mother. He also
Inherited her memory among the other qualities.

Narendranath was an all-rounder. He could sing well. He was good at sports. He liked
to Meditate. He would get lost in his thoughts about God and for a time he would not
see Or feel anything around him.

Questions:
a) What examples in the passage tell you that Narendranath was an all-rounder?
b) What qualities did Narendranath inherit from his mother?



Xll._ Answer the following question in 8-10 sentences: 1x4=4
36. Why does the poet Ruskin Bond calls his grandmother as genius?
OR
What are the various things that the poet V K Gokak wanted to sing about in the praise
Of Mother India?

OR
Write the summary of the poem “Ballad of the Tempest”.

XIll. Write an essay on any one of the following: 1x4=4
37. a) Air Pollution
b) Television
c) Dengue Fever

XIV. Write a letter using the information given below: 1x5=5
38. Imagine you are Kishan/Kalpana studying in 10t std, Government High
School, Begur.
Write a letter to the Headmaster to issue your T.C and marks card.

OR

Write a letter to your father requesting him to send Rs.2000/- for school excursion.
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31T
31pel HIAT HSH ¥ T hgdT & ?

Pafafaa usit & SR 3-4 arei & faf@g : 9x3 =27
AfenT 7 fers<) o urur hd I=Tg ?

I AeafchiT Ueh shifdehRl @IS § hd ? Id13U|

HASel! A Sl o U ST T Siare &t ?
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28.
29.
30.
31.

32.

33.

VL
34.

VIL.
35.

VIIL.

36.

heiTeeh chl fRAITTehdT ST §1 hd ? WE ST |

Shetarex A STeRI<h Tletl chl URIET H oRIT hgl ?

3yfer AT Y Hifder FTeET A guie FifSg ?

Y A FHIA §” hiddl oh YR UR 39 Y T gHAT hifoig ?

fAafafaa i@ o1 vmaref sux el & faf@e :

qfear g@ 9t =1y, @M U i Ueh |
OTet U Hehet 3771, Jerelt dfgd fade 11

A=faf@a srgede o1 srgarg w1 a1 sidsht vrar & HifSig :
Tepfd §HRY AT &1 3TforT 9 UTepfaes Tufy o Srued w8l st a1fgy| 3o ugfaror et
e e ff gAY SieRy 8

fA=afafad s & o= IR-uT= Tt | fAf@e : 1x4=4
A<l U1 A I909 § TR IR T4 hl daRt Y i ?

)
feroft fer wR 936t & srgat ot qufq fifsrg 2

A=afaf@a sfReizr gof fifsg : 1x4=4
IEHANITh "I A |
TNl Sl FYdas g Ffafaa waif & s fafa@g 1x4=4

fth GOR & 3T 3T Sftad T o [T 3eh &1 dar g1 fohdt | d 39 Itherdt
fAerdt g at foreht 7 srgthetar) 33t @ 79 7 U IadT1 @ foh athel SR Srthal AT | T
3R g1 @I chl Yeh A hTH hIH fohdT gER = STTET| T gl &1 oh URSH o URUIHA Al 3R
§? T8I, I<=arE Ig ¢ foh Uthel SITeH! I8 & ST STUAT S oe Uik, gfeg SR Tarrrar @
T &1 STalch el HTGH 13T At ISTAT & 3R hr |t T hedT & W uRYHA & 1Y I8
ST, gAY a1 9 1 uahT Sich O A8l hedT| thel afh uRfQAfATT & T19 Ferd & Stafh
3Tl Af<h TRFATTT ol Tehs I8 8, STH I8 AT ol gid! oY d 3[aR &l UgdaH

R IGHAdT bl GheldT H g 2|
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3T Siia-T Iei- oh folq Sf<h &1 hRdl § ?
Hlhel STTGHT hdl ehTH T & ?

3TtheT MTeHY H fohaeht ot gicft & 2

D. fth o A9 | hdT UH I5dT & ?

= >

o

IX. faw g dadha faigait & smur wR 12 & 15 it # g gy fafag : 1x4=4

37. A. U T HET
o T opr 31

o THTH-UH JeMT
o TdeA-Uskh ilh
o IUIERI
31qar
B. B ek AGH
o UG-
o fowy fomr
o JUYUERI
31ar

C. 8 YRd 3=

o D WRd hl cheUdl

o I hl TG hdT
o BURICIRE
e JUIERI

X. fF=fafed fAua s ar 3@ o fafag: 1x5=5

38. ¥ WIS I A H WA o & fog diF & i g€ Ad §T U¥H sdrdeh & A
Teh UA foif@y |
HYAT
3+ At S i gems & gy uF faf@g |

L
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MODEL PAPER

Time : 3 hrs. IIT - LANGUAGE HINDI Marks : 80

. FPefafea usit & g aR-ar fGaea g M § | 399 @ 9@t RAaey gaaw 39&
Heharer gfga af@g : 8x1=38

"GRteAT ol fATiH AT &

A, @ B. &=

C. HET D. AT
2. fefefead Sifar s g :

A WdEh B. &fa

C. 9Rd D. W |
3. ‘AT U ohT UyH IR fhar ®UE

A, Ramr B. 3

Cc. fRamn D. <& |
4,  'U9ge A F AN G

A f&T B. dgRy

C. 22 D. HHYRT |
5. ‘UddRIgur s A Gfd g ;

A gfgdfd B. /e IfYy

C. oIy D. &Y I |
6. AN HIIATIITTUG ;

A, & B. &HR

C. frR D. &dc |
7. e g o STdT o |

R W & 3IfRT R 9y :

A T B. &I C. W el
8. &l fohgehr gl @

arerg o folu Tg! farm fag g

A B. | C. - ?
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10.
11.
12.

13.
14.
15.
16.

IV.

17.
18.
19.
20.
21.
22.
23.

24,

25.
26.
27.

Rrafaf@a uuw & 2rsel & el & geEu fiR e T eafda sz faf@v:4x1 =4

g4 h! TeATS : Yahich . SIWHC Il L .
a1 URaR e o EigRaR L .
Tgafe daaTe ofgwd o defRuddafesr o0
YRd & Ed DB 0 @98Yeds
fA=faf@a usit & IR ga-ua gof araa | fafag : 4x1=4
TG A RTINS ?

TR hl WARATh Tl T 378 ?

Y AFg A fra R s arg 8 2

el & SIaR T fhdeh 7T 8 ?

AafefE@d s & IR & - 9 aremi 7 af@e : 8x2=16
Sfearet SRt 7 foha-fohe Sa”t & Hetterd i Sk &t 2
“Uepld IR Fd g, faordt gew smdfi=” 39 dfk ot s we 9y |
gexHe § 31 ot anifefen fIf F he gUR &1 Gohd 6 ?
chfddl h SR GHY I GGUANT hdl eh3AT M8y ?
et wR afer ofR SRR TR G RTAHE ?
et o Ied UTd goTR &0 &l G=RITY i T ahd 8 ?
GRHS | 1A Ug T W R 8 ?
Sfar
1Y it 29 +ft ohgd €, T ?
T F HG it Sl dienT el AT TATE ?
3feqar
IR = HHT AeH 9 T gl ?

Afeaf@d usi & 3R 3-4 areai | faf@e : 9x3 =27
G & @RI §U T i gTeld & IR # il |

JTEHE STATTe A T URTY SIS |

Gfed Iretfhaik o WRiuehrt it 1 gRed ST |
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28. Tt I ehrdehdisil o sita | T ardieny gar ? Qg |
29. ‘#fgar $t greg mAT uts T T JRg fAed! g ? 9d13T |
30. ARG < faivarstt et uR=g df9g |

31. STIHST YT AT § RAT-HT AR T g ? TA13Y |

32. fAafafaa i@ o vranf = el & @ :

qfear g@ 9t 91y, @M U i Teh |
OTet U Hehet 3771, Jerelt dfgd fade 11

33. FR=faf@a sigede &1 srgare &< ar sidsh vt 7 fifsg .
I & IRT SR gorg G@rE &3 & | Uepfd 7 39 U8 7ol A BR 1 &3 § | a%gd: ¥+ IR-
ASA P R T8 |

V. FRrafaf@d wsit & s uig-o: aal | afae 1x4=4
34. ofEent firee] & ufd 31uAT UH 8 <<h it 8 ? 9dTsy |
STYEr
firee] o PRi-chetTd o AR # feifQy |
35. f=faf@ea wfaaisr gof fifsg : 1x4=4
36. FERAATTHR ___ AT A |

VII. fFeaferaa merisr uear i foa ma usht & SR faf@e | 1x4=4

37. BHR o2 ! T&epld fasy &t gt deepfaai & U= @ | srret g ufgHt geaar &t gerreiy A
T HEM TRl eTd ST g € | WA U] T URURT R T&pld vl IRf&T @
Y 1<k & | 8 I8 T8l hed & foh g9 YA foaRl & R 3@ | «fch 38 g31-931 & a1y
TR AT A1feT | ararfiat & dnfAes gfe dar <t Sy arfes & sramar ofik sigfasyra &
e & fFehetehe 31 I TAIfd e Teh | STeATicich 1<k o TTY dFfTi-eh dehelfxh &1 ot
$AT8 UR UgdT Hehdll & 3R 39 321 Y U Uga= a1 8 |

A, BHR 30 hl GERfd hdl § ?
B. AN gH chal fch UGH & ?
C. ufgyet gezdr Fi gepraiy A g4 fhd Yo B & ?

D. 227 h UgI hd ST & ?
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VIIL Ffeaf@a Ry g dda fhget & smur )R 12-15 aral & et g faww
R ey fAfag: 1x4=4
38. A. Uded T A
o UIJTd-T
o 3
o fapmm
o oY
SUHER |
)|

B. 37T hl HTGRIRT - 3
o UgIg-l
o Y
o UgT 3R IUTNT
o IUHER|
YT
C. f&& v
o UgIq-l
o BN & =7 H f&d
o TEET Yo FY fasiwar
o JUYHEKI

IX. fFafafed wiE v v faf@e: 1x5=5
39. &< TS I A H 9T o & fg i fa B @) AiTd §T uYT sfedryek & A Teh U
forfey |

YT
3+ 8 ol Ueh oo feifu, [Sad g+t urs=iTer o atftiepicda &t gui &t |

L K
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daafas faem famer

e 0T A9 TTAT FIRLATAT ©: 2023-24
fawr : gt smar- faedt
. farafaf@a weal & AT a@ 3w g _AfEw-

AT 3 gea

FHeT:cHdl 37980

8x1=8
1. "dICeMg" - &7 ENfoldT e - A, 917 B. Tl C. q=r D. 19X

T FT e orse g

A. ge8 B. @ra C. aRar D. Tl

. o= Pfag a<=Sf & gud wunds fRar g | A, I

B. @I« C. Il D. I
. "I UG FT Tgadd TT & |

A. T B. fadrd  C. Fglilaar D. shgell
. qH el STET 82(9gerd Tavre et §) AquT faE B.3red farAr C.ueedrash D3t

. EAffEd A SfATaAE T 30T g1 A, dRUC B, TeiAgA  C. ael-Uér D, afielhs
. STt ST eI AR |

A I B. & C.& D. f&

. farafaf@a & g9 I & 3eeRor &1 A "@eeEfd B. WiueR C. The D, s

II. 2t eredt @ GiAT Fat & egey, AN ereq @ wafta ase faf@w: 4x1=4
9. SlelleEdleT : &l of&HUT AT 3eqgel HollH

10. JSIHRIR : GG = S8

1. free: W@ $ARGRT & dFAc 7
12. {Odr: ¢ AT

l1l. 3T 9ot &1 3w U g & faf@v -
13. Tl 3nfeardy Fgf @ A?

14. é’%rwﬁmgmaaommw%?
15. §H T I[UT HAT BlaT g7

16. hig anfad 3R forar anfogd & Far-aar ag far ?

IV. 3o W&t &1 3% &Y - il aat # 3w -

17. IGh FHATCST of IR &l Agcd & R H FIT Fgl g7




. ST & AT g@ & 9IiTT s G §7?

. SoRTH F0T & ATAI-{IAT & IR & AT FHgel §7?
. o@® gRAP WA FT TARTT hd fHAT IAqT?
. Sl i egihd A?
. STorIfehel elell &l qXEhR AT fear arar?
. Te & R H faf@u:
(3ryam)

ey o1 foT R ghR g3 &7

24. 320 & FHedIoT T & T & Al ASH A 37T H T Fgl ?

(3ran)

AR & HAglA ATFadl o T T TERT forar g1 - AleeIor THASET|
V. far fof@a wedl & 9r - afg it 7 s ff@e-
25. TTee] & 9fd Heedr dATSH Sl HACT & guiel ST ?
26. U, TSATHAR & AT SIgR &7 IRTT ST
27. GifTe Acafder - wifdwdy et &1 Fa ?

28. ST FFASAT A o] HIHKIST iU A W@ & AU &4t forar ?

29. Hid TGRS & 3THR AT HT Hel GR=T  F41 7

30. HRA Al & ypfa-digd & vt HfoT

31. AT HT FIETIMAT 916 T FAT T Hoar g2 39« [ yfdcafea o

32. R & smary U oredl A RRAT: 77 A7 77 U g¥, Shg G =R |
Jordlr iR anfet, o =gt 3o I

33. EARA FT IHIAIG Fools AT IS A FAAT-

Ufe gAR AR-HASS FT1 Teh FeX Ig &1 30 TE & <Ug 3 JoT g1 ¥ Ypfd @ 38H el
A G 8RS & & |




VI. A Rf@T AT 9= -&: adt # 30 Q-

34. TeeIs ST TUT FEPIA AT dolicen & AIGAPRT T AT ST & ?

(37a)

hollceh & Hiepfdeh Higd &1 auler Hfaw ?
35. farafaf@a g qot fFfore:-

FHBIdT Teh

mﬁaﬁll

VII.36. Tt faf@a exer & geat weat &1 3R Af@v ;- 4x1=4

AT R &1 FYUT SfaeT & AlTg Far 7 N | T TIHT F & A, FAEH,
HEUITHAT AR gare] AT | 3G sedl , geal, e, Ua faeheller sl &l {1 el el
Siiael & ATAA &0l deh 3egled 9T [haT| 3oglel AU S Bish AT IR I & YT
FHAHA AGT | AR TER o T 1980 3. A “0RA Il “ & Wared PR Gal FFATIT
foham | faeg &1 I56 WEPR ‘Al [RERR” 8 3¢ 9red g3 |

1. AT AT T TYOT SfiaeT HF diar ?

2. R THR & HlT-HT RERR SH FEATTAT fhar?

3. A AT fohaeh foIT 3raliasr a& sy fohar ?

4. AST AT & TIATT Har AT ?

VIIL37. & tF vy w ey faf@w- 1x4=4
» QEAHIO :  TAVI JAA - GEAehT T IUFT - YENUT & $HRUT/ HIRUMIT - 3THER
» GITETOT YGWOT :  TANT YA - GEcAhl A - GAROTH HY /fE - 3UEER

» AT FT GGUANT : AT YA - AT Hged - AT HI39AET - 3YHER
X1.38. @ G $T T AN §C YA Ao F TUATLATSHSN F TH W 07 @

(3r2ram) QITeT g¥eT & farw 1000 w:ﬁwﬁgtrmﬁﬁma"ras‘rwwﬁﬁm 1x5=5




2024-25

3P :80 favw . &6 JqHY: 3w

| FafifEeg w0 % T 9R-a) GEer game @ § | S9E & gaifas StEa Reer g
TEh "G e "iegw [ w9 & fafew 8x1=8
1. @deT =% #71 fadm o= a8 2 |
(A)ar=T (B) @il (C) =T (D)<=t
2. U99¢) 39 GHN BT3GR 6l
(A Fw T (B) 35 HHTH (C)TT®T |qHTE (D)FHLITRT THTH

3.981 958 T AT T99 ek Tg © |

(AyTET () ufeat (c) Hfgam (D) TSt
4. 9T 9Teg FT EHifeRT &7 8 |

(A)yFTT (B)HITAT (c)Fd (D) AT
5. RAT s #7 w9 IO E ®T g |

(AR (B)RraTT (c) frr (D) Rrz=T
6. ANETIFE 7 T |fF ¥ forw sameww £

(ATor e (BT wfar (C) 3 =t (D)= wfer

7.9 UF qemT ASH 2 | W A H 9w faew e -

INELCIERE] (B) T fo=mw (P EIEERE R DRISEREES]
8. T=r g st ww whm
(A)E (B) X (€)% (D)FT

I RuffEa sow 3 a5t F giea 998l F ageT faY aee &1 q6iga e forfaw |
4x1=4
9. STATARIT : ST < @ THRIA - |
10. 3-99ma gt werEs ¢ ;. AR weRE: |
11. 96T :deAT | |

o

12. fomr - REET e |




I Ruffea oo % S -t of g § iR

4x1=4
13.91@% H FIT ToT AT 2
14, FFT Tgd 7 agi A7 qETE ;AT 2
15. 357 AT & AT A g 2
16. STAFOT T W7 FAT AT 2
Iv FaffEe o F s 6w g ¥ e
8x2=16

17. 999 ST § @OER & g § #®&7 Aqreadr @@ g e

18.%2%Ae UHF HAHT A& gl HH ?

19. FA-HAT 0@ 9% o@® F7 9= O @ o2

20. 7 F TEAT W OFE X AT S@r € 2

21. FF=mefi Seq ® 997 #7 "4gd =7 g ? adEul

22. ITAFCT AT {IAT FLTET & FAT-FAT I F:ar g 2
23. 919 HIHed #T a9 {3 Tg HMET J1ar1 g | F 2

EREN

of HITHEA T AT 337 U2 € | FF 2
49T F A9 wa=Al F A § forfew
AT4AT

AL F WAT HSH H OFAT FT 2

v. Ruffag i F SO fi9-9R g § i) 9x3=27
25. TFS[g! ol & - Tee] Bt FHIE | 15 718 ?
26. PR @A F fAawr # FE R A T2
27. 99T i TAMERT F I H FfEw
28. HFAT TRAT A HI qTHT Jgd g AT | F40 2



29. TA¥EE HT AL 9T TgAHRL dHal 7 FT AT 2

30. IR & WTHfd® |iad &7 J09 Fiow |
31. R ST & AE FIF AWT FEAM FT ATTFRRT GEIT 2
32.39 arg &1 wAmard ferfem
AT o8 F A g, T9 g ATHAT |
TIET =T F TIRU T T T H WO |
33.TH AT FT AqATE FOL AT UK § KT |
THId AT ATAT 8 | AT g8 WTHids STeHl FT A9sT FLAT dgi ATgu 1379
T T =g T@aT |l gHNT I g |
vl Fafeifee =it % SIX 5-6 arl # fAifem 2x4=8
34 FATeH it foreawar &1 uh=g ffSm

SREI

FAE ATUT TAT G0 & U@ FAled F ATGARRT Hf a9 FT g 2
35 Referea wfEaier Qo Hifm |

VI T &4 qas Tghe fRefafaa i % 9 fofea 1x4 = 4

JAAE T § qUER I A AT W O § T T B\ qHT qU AW F a '
AT FITeF 2l M0 gl g7 a9 & off o9 S{aq § J@ar 984 F AEd T[T Ay |
Tg gH regfaE qwt ST THURTel F a § A&y IaT g | T8 gH T, wiost,
RN L O o O 2 2 I i 1 e e | e s e | o e G 1 -V T e
STHFTET =@ 8 |

(&) 2 Ay w1 FEdr smed TTeEr AT 2
(30) AT 97 fFeehl SRl <dr g 2

(%) HATHAT 99 AT | YT #eEg Far g
() @ ey w7 3tua ofdw e




Vil iR 1o g fagei % smeme ox 12-15 amsg A R o Rfwg & ar § Reag ofeo

1x4=4
(F) Taeae & ITARET

* JETAAT

* ZaTAC FT HgA
* ZEAAE H AN
- SR

(@) = wErea
= e

* g9 H[cHd & Hgd

* FAT | ATH
. S
(1) IS
* TEATEAT
*
* a3
- TR
IX Refafea v & ar & o= fofag | 1x5 =5
e FFRO Fard gC 2 79 At g& F R amsam™r F w47 SeqvE & U 97 ey |
AT

UETE ¥ WEed & adId U AU ®ie AT A U oA i



a4l w1 | Third language Hindi

Time : 3 hours Maximum marks : 80

|. Rt it F g a-a faew g=Te 1 §, S9H F waitas StEa s e

farfem
1. ‘STaTe’ 9152 7 faeTiH 9re & —
(a) @ (b) ®ATer  (c) ST (d) SATSTET |
2. ‘AT 9Te2 7 H e & g —
(@) Fraft  (b) #fafa () fiwa  (d) & |

3. ‘REgTET e § 9979 ¢ -

8x1=08

(a) 35 THTH (b) FHLTET THTH (c) T eT q9TF  (d) TgAlT THI |

4. T o R -

BORLEIE] b) T (o) wHET  (d) I A

5. TSN IHF FUT & =AY TS |
AT | T3<h e =g 8 -
(a) worar=a vg (b) seutarw g (c) Faewatieaa=
6. ATX........ AT T T S| ¢ |
@& BT ()F  (d)FT
7. (Rerferied | & aga o2 -
(@) Tmam  (b)=TeT  (c)=fEET  (d) T
8. ‘T U5 T TAH YLUTIa FhaT 7 8 —
(a) T (b) TN (C) @IET  (dl) ST |

Il . T ST 5T F GIod e 6 ATET Jra< qe8 HT Fararq aes e

I, RErferieEra i & ST UE U& ot ar |/ o
13. FAA F THTS ad U TAT AT | FI7T gl ?
14. Trartae fore s =faa o 2
15. 3TST AT T AT Figl TR S ?

16. T STAAT TTAT TLATET o T FIT AT g 2

(d) 35 =g |

4x1=04

4x1=04

| Turn over



V. Feferfea a0 & ST ar I &9 9 ¥ o 8x2=16

17.
18.
19.
20.
21.
22.
23.

24.

o I F IEQl I FAT TR (HeAT ?
TITTET ST o Fhlel Tl el LTTd Ll g ?
TG THAE TS T FT Hged qqTd & ?
AGF TLHTS ST o FHI FISHT ST A1 o 747 fora 2
efITST TG T FIGHTT Ul Al STexd F=r off ?
faee STt sy A a1a 7 Wifds ATEET A7 a0 FH Fd @ 2
orfer Tg T ATATALT fohed AT H TAT S ?
AT
9Tt T SUUE T2 & 1L § 39 FAT AT\ & ?
TG o =TT § T &l 97 T8 T ¢ ?

ERC
AT #Ew F Fq | ST ° 47 Haor fIar ?

V. FEferEa it & sax fiv-9 arei | o 9x3=27

25.
26.

27.
28.

29.
30.
31.
32.

33.

AT o FIee] & 197 ° F=70 2

AEHT TATAR T HATH Tl A% AT AT ATe el FHLAT ?

TG Y T FT 9= AT |

FoAE ATHT TAT HERIA o ToTT FelTeeh o ATGcAHTL i & FAT g 2 FUF i T |
T T AR T Ff AT AT THhaT g 2

FHIAdr | AT T FrQroar &1 9= 7 BT @ g ?

T HT AN H¥ HAT AT ?

FAwforfea g 1 wrEmt s gt # e

T AT A <17 &% g a8 51T |

AT WA AT, ST ATgH T 3T ||

Faferied srgees #1 sqaTe 9 37 S 9T § i

RIAgaT & SHiad &l Tarer 2 99 & AT4F Agl gial | orq: [iee T Stae I &7 3 d
ST Bf AT | o9 S99 9 $g @ 7 98 918 47 |

VI. R w1 sax s s o o 2x4=08

34.

Se¥He 9T UF a3aTd ¢ | " ? Jd130 |
ST
TS Aea T Uk ARl TSl & | el ?

| Turn over



35. ﬁaﬁﬁaﬁ&rﬁﬁﬁﬁq

St nldl Uen, ..

VII. 36. T=I7eT 1 ggah et i & SO e : 4x1=04

T o T2 & 18 TS 4 Fda< a7 1888 T &l Sy il T&T & oy foeraa v |
ST & 9@ TS STt /1aT & T Sast &2 10 o & F 979 qie onfe 99 =769+q 7
T 3E TTAAT 7 TS AT T=T Arienss aef f3am) ST & ISt ATaraor 7 Ay 7 o
ST AT ST AR Tal HT GhT | Fere AT 3T AT A7 FTHh1a gt o) Fohg 77 &1 & 12
ITAST 7 Irg (T AT SHAT i ST AT (&AT| Tt | Tieft ST F afaeeia T Teand &

TEART T AT AqAT THaT | =9 3Teqa qAT Aaqr-arsad e & f=ad qa9 7 o7 &
RIS ATl &l 3T AT g2 < |

1. wiefistt feremae =/ T ?
2. IS 3o ATAT T TAST F AT Y ?
3. T3 e | T ST o Fohetehl TEqehl T Teqa= e ?
4. ZFAT | LTSI T TS FETT o0l AT FAT AT galr ?
VIII. 37. fRT 1T "ohg foig o e 9 12-15 ara § o fAey e 1x4=04

i) T FT HEA
o TATT FHT AT
o TATA-TF I
° W—@Qﬁzﬁ
e JUHGIT |
ii) == WA
o T WTLA i FHodl

o TI=IAT T ATTLTHAT
o ZTHNT ITUA

e TUHIM |
iii) FXT FeATeh Ag™
o JEATAAT
o Ty fAFa™
¢ ITEEM |
IX. Refefea ffwr & ar & = wF o= fafeg 1x5=05

38. 39 Higedl H HATT MU FT = TAT 67 & a1 § a1 g {7 & 717 9 ot |
ERE
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for reading the question paper.



I Four alternatives are given for each of the following questions/incomplete
statements. Choose the correct alternative and write the complete answer
along with its letter. 8*1=8

1 If'A'and'B 'are any two positive integers, ' H 'and ' L ' are HCF & LCM of these
integers respectively, then the correct relationship in the following is

AHXL=LxB BYHXL=AXB C)H+L=A+B D)H=A-B

2 Inthe given figure ST ||QR then g is equal to

PT PS PT PT
A) TR B) TR c) S0 D) SR
3 The distance between origin and a point (x, y) is

A) x? + y? B) /x2 —y2 c) x2 —y? D) /x% +y2
4 The probability of a sure event is
A)1 B) o C) -1 D) 1.5

5 The curved surface area of a cylinder of radius ' r. and height ' h ' is

nx%h
A) 2nr(r + h) B) nr?h ) - D) 2nrh
6 Length of an arc of a sector of a circle of radius ' r ' and angle ' 6 ' is
A) io X r? B) I 2mx? c) b 2mx D) b onr
360 360 180 360

7 In the figure, the value of sin

V3

A)5 By > 03 D)2
3 )5 )7 )3

8 26 English alphabet cards are put in a box and shaken well. If a card is chosen at
random, then the probability that the card is with an
Vowel is

3 5 21
4) B) C) = D) -



II Answer the following Questions 8x1=8

9) Define arithmetic progression.

10) If a pair of linear equations in two variables are inconsistent, then haw many
solutions do they have?

11) Write the degree of the polynomial p(x) = 7x3 — 4x + 2

12) Write the condition for the equation ax? + bx + ¢ = 0 to have equal roots.
13) State the converse of Basic proportionality Theorem

14) Define Sector of a circle.

15) In the figure AP = 3 cm, PC = 8 cm Find the length of CD

D

P
16) Find the median of the given data 5,3,14,16, & 119

III Answer the following 8x2=16
17) Find the HCF and LCM of 3,8 and 15

18) Prove that 6 — /5 is irrational

19)Find the number of terms in the AP 12,15,18, ...99

20) Solve 2x + y =11land 3x —y = 14

21) The product of two consecutive positive integer is 306 . Find the integers.

OR
The length of a rectangular field is thrice its breadth. The area of the field is 147 square
metres, then find its length and breadth..
22) Find the coordinates of the point which divides the line joining (0,6) and (4,3) in the
ratio 1: 2

23 )IfsinA4 = % find the value of cos 4, tan A

OR

. sin30°+cos 60°
Find the value of ——————
cosec30°—cot45°

24) A die is thrown twice. What is the Probability of getting the sum of numbers
on its faces is 10

IV Answer the following questions 9x3 =27
25 Find the sum of first 20 positive integers divisible by 5
26)Find the sum of 5+ 8+ 11 + :-- + 50 using formula



OR

The 2" and 3™ term of an AP are 14 and 18 respectively. Find the sum of first 26 terms
of the AP using the formula.

27) Find the zeroes of the polynomial P(x) = x? — 2x — 8 and verify the relationship
between the zeroes and coefficients.

(OR)
Find the quadratic polynomial whose sum of the zeroes is 7 and product of the zeroes is
12. Also find the zeroes of the polynomial
28) A vertical pole of length 6 m costs a shadow 4 m long on the ground and at the same
time a tower casts a shadow 28 m long. Find the height of the tower.
29) Prove that "the lengths of tangents drawn from an external point to a circle are
equal!".
30) Find the coordinated of the point * 'on the x axis which is equidistant from A(5,9)
and (—4,6) .

31 Prove that sind_ | 14054 _ 2cosec A
1+cosA sinA
(OR)
prose that cosd S04 _ ¢os4 + sin A.

1-tanA 1-cotA

32) Calculate the mean of the frequency distribution table given below.

Class interval | 0—20 | 20—40 | 40—60 | 60—80 [ 80— 100

frequency 15 10 35 50 40

(OR)

Calculate the median of the frequency distribution table given below

Classinterval | 0—10 [ 10—20 | 20—30 | 30—40 | 40—-50

frequency 7 9 15 11 8

33 Acircular pond is 17.5 m in diameter. It is surrounded by a 2 m wide walking.
path. Find the cost of constructing path at the rate of Rs 25 per square meter

V Answer the following 4x4=16
34 Solve graphically 2x+y =8 andx—y =1

3.5) Find the roots of the equation ﬁ - L= % (x#—-4&x+7)

x=7

4



36 Prove that "If in the triangles, corresponding angles are equal, then their
corresponding sides are in the same ratio and hence, the two triangles are
similar"

37 The angles of elevation of the top of a tower from two points at a distance of 4 m
and 9m from the base of the tower and in the same straight line with it are
complementary Find the height of the tower

A

X 90-X \
[

4 n om

oR

The angle of depression from the top of a vertical tower to a point on the ground is found
to be 60° and from a point 50 m above the foot of the tower, the angle of depression to
the same point found to be 30° as shown in the figure.

Find the height of the tower.

A
D

VI Answer the following 1x5=5
38) A toy is in the form of a cone mounted on a hemisphere with the same radius. If the
diameter of the conical portion is 6 cm and its height is 4 cm , then find the surface area
of the toy.
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I. Four alternatives are given for each of the following questions/incomplete statements. Choose the
correct alternative and write the complete answer along with its letter of alphabet. (8x1=8)
1. The HCF of 72 and 120 is 24. Then their LCM is
a] 36 b] 720 c] 360 d] 72
2. Ifa,b,c,d,eandfarein A.P.thene-cisequalto.....
a] 2(c-a) b] 2(f-d) «¢] 2(d-c) d] d-c
3. The solution of the equationsx—y=2andx+y=41is
a] l1and-3 b] -1and3 c] 3and1l d] -1and-3
4. Zeroes of the quadratic polynomial x*> — 3x are
a] -3andO b] -1and3 c] 3andO d] 1and3
5. The value of variable b = 5 satisfies the equation
alj(b—3)(b+5)=0 bl](b+3)(b+5)=0
c](b-3)(b-5)=0 dl(b-3)(b+6)=0
6. Triangle with sides 2cm, 3cm, 4cm is similar to the triangle of following measures
a] 4cm, 5cm, 6cm b]5cm, 6cm, 7cm
c]12cm, 13cm, 14cm d] 6cm, 9cm, 12cm

7. The probability of a certain event is
all bl 0 c] 0.5 d] 0.75

8. Given tanA =% then the value of SinA is
4 3 5 5

Il. Answer the following questions: (8x1=8)
9. Find the value of ‘c’ for which the pair of equations cx —y = 2 and 6x — 2y = 3 will have
infinitelymany solutions.
10. Find the distance of the point P(4, —3) from the origin .
11. "The product of two consecutive positive integers is 72" Write the algebraic equation

of this statement “
12. If SinA= CosA, then find the value of A. WOMNSE o8 <
13. In the given figure, find£P. e
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14. Find the number of zeroes of the polynomial of the given curve shown in the
graph. '

A\
VARV

y=p

Y

15. If the volume of a cylinder is 30cm? then what is the volume of a cone having same
radius and same height?

16. The mean of 10 numbers is 15 and that of another 20 number is 24 then find the

mean of all 30observations.

lll. Answerthefollowing questions: (8x2=16)

17. Prove that 2 +v/3 is an irrational number.

18. Solve the equations using elimination method: 2x+y=12and x+2y =9
19. Find the value of ‘K’ if the quadratic equation x> — kx + 4 = 0 has equal roots.
OR
The sum of the squares of two consecutive positive integers is 13. Find the numbers.

20. Find the distance between the points A(3,2) and B(6,2)using distance formula.
OR

Find the coordinates of the midpoint of the line joining the points P(3,4) and Q(5,6)
21. Find the 20" term of the AP -2, 1, 4, 7, ---------
22.Find the smallest 4-digit number which is divisible by 18, 24 and 32.

OR
Given that HCF (306, 657) =9, find the LCM(306, 657). .

23. XP and XQ are tangents from X to the circle with O, R is a point on the circle and a
tangent through R intersect XP and XQ at A and B respectively.

Prove that XA + AR = XB + BR.
24. A heap of rice is in the form of a cone of diameter 9 m and height 3.5 m. Find the
volume of the rice. OR
The radius of a sphere is 10cm. If its radius is increased by 1cm then how much volume

of the sphere is increased?
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IV. Answerthefollowing questions: (9x3=27)

25. Find zeroes of the polynomial x2 + 7x + 10 and verify the relationship between zeroes

and co-efficients.

26.The length of the minute hand of a clock is 14cm. Find the area swept by minute hand in
5 minutes.
OR A B

AB and CD are respectively arcs of two concentric circles

of radii 21cm and 7cm and centre 'O". If ZAOB = 300, CD 21 cm

Tem
find the area of the shaded region.

27. Find the ratio in which the line segment joining the points (-3,10) and (6, -8) is
divided by the point (-1,6).
OR
If the distance of P(x, y) from A(5, 1) and B(—1, 5) are equal. Prove that 3x = 2y.

28.Find the mode of the frequency distribution table given below:

C.l 0-5 5-10 10-15 15-20 20-25
F 8 9 5 3 1
OR
Find the median of the frequency distribution table given below:
C.l 0-20 20-40 40 -60 60-80 80-100
F 6 9 10 8 7

29.Prove that the lengths of tangents drawn from an external point to a circle are equal.
30.In the below Figure, BD and CE intersect each other at the point P. IsA PBC ~

APDE? Why?
E
31.Prove that tan”6 + Cosec™d _ _ :
) tan26-1 Sec20—Cosec?0  Sin20—Cos26
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OR
Prove that (sinA+cosecA)*+ (cosA+secA)’= 7+tan’A+cot’A

32. A game of chance consists of spinning an arrow which comes to rest pointing at one
of the numbers 1, 2, 3,4, 5, 6, 7, 8 (see Fig.), and these are equally likely outcomes.
What is the probability that it will point at (i) 8 ? (ii) an odd number? (iii) a number
greater than 2°?

33. If a train travels 15 km/hr faster, it would take one hour less to travel 180 km, find the
original speed of the train.

V. Answer the following questions: (4x4=16)
34. Solve graphically : 2x+y=8andx+y=5

35. The sum of the first three terms of an A.P is 33. If the product of the first term and
third term exceeds the 2nd term by 29 then find the A.P.

36.The angle of elevation of the top of a hill from the foot of a tower is 60° and the angle
of elevation of the top of the tower from the foot of the hill is 30°. If the tower is 50m
high. Find the height of the hill.
OR
The angles of elevation of the top of a tower from two points at a distance of 4 m and
9 m from the base of the tower and in the same straight line with it are complementary.
Find the height of the tower.

37. A medicine capsule is in the shape of a cylinder with hemispheres stuck to each of its
ends. The length of the entire capsule is 14 mm and the diameter of the capsule is

5 mm. Find its surface area.

VI Answer the following question: (1x5=5)
38. State and prove Basic proportionality theorem.

%k %k %k %k
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I. Choose the correct alternate, and write its correct answer along with the options. 8x1=8
1.72=2™ x 3 then the value of m is
A)l B)2 C)3 D)4
2. Number of zeroes of the given polynomial
A)3 B)2 C)1 D)O
3. The standard form of a Quadratic equation is
A) ax?+bc+c  B) ax+b=0 C) ax2+bx+c=0 D) ax+b 8
4. Distance of (3,5) from the x-axis is
A)3 B)8 C)15 D)5
5. In the adjoining figure the value of BC is
A) 50mts B) 45mts C) 1mts D) 100mts
6. Number of solutions for intersecting lines B 4o e
A) zero B) One C) two D) infinity
7. The line that intersect the circle at any two points is called as
A) Radius B) Chord C) Tangent D) secant
8. The relation between Mean, Median, and Mode is given by
A) 3mean-2 median B) 3mean+ 2median C) 3 median-2 mean D) 3median+2 mean
II. Answer the following questions 8x1=8
9. State the Fundamental Theorem of Arthematic.
10. If the value of the discriminate of a quadratic equation is positive, then what will its roots be?
11. If an=5n-2 then find the 4" term of the Arthematic progression.
12. In the given figure DE||BC and AD= 4cm , DB=1.5 cm , AE=8cm ,then find EC?

13. If Sing = ? is an acute angle then find the value o f6.

14. Write the formula used to find the length of an arc of a sector of radius ‘.

15. What is the probability of obtaining all the possibilities?

16. Write the formula to find the volume of a cone.

lll. Answer the following questions 8x2=16
17.x+y=5, 2x-3y=5 Solve the Linear pair of quadratic equations by elimination method.

18. Find the discriminants of the quadratic equation x2-5x-6=0.

OR
If the nature of roots of the quadratic equation x?+7x+k=0 are equal then find the value of K.
19.4,7,10. .. are in arithmetic Progression find the 20" term.
OR

Find the sum of 3-digit numbers that are divisible by 4.

AM _ AN

20. In the given figure if LM ||CB and LN||CD, Prove that T

21. Find whether the vertices (5, -2) (6,4) and (7, -2) form an isosceles triangle.
22. Simplify Sin30° Cos60° + Cos30° Sin60°.
23. In the given figure if OA=7cm OY=21cm £AOB-= 60° find the area of the

shaded portion.

24. A box contains 90 cards numbered from 1 to 90. If a card is taken at
random . Find the probability of getting (i) A perfect square number and
(i) A three-digit number.



IV. Answer the following Questions 3x9=27

25. Prove that V2 is irrational.
26. Find the zeroes of the polynomial 6x2 -3-7x and verify the relation between their
zeroes and the co-ordinates.

27. Find two consecutive positive integers, the sum of whose squares is 365.
28. A girl of height 90cm is walking off the base of a lamp post at a speed of 12mts/sec.

What is the length of her shadow after 4 seconds if the lamp is 3.6m above the ground?
29. Find the coordinates of the point which bisects the line joining the points (-1,7) and
(4 ,-3) in the ratio 2:3.
OR
Find the ratio in which the point (-1,6) divides the line joining (-3,10) and (6,-8).
30. Find the value of 5C0s%60°+4Sec?30°%tan?45°

Sin230%+Co0s230°
OR

CosA N 1+SinA
1+SinA CosA

Prove that = 2 SecA

31. Prove that the tangent drawn to a circle at any point, and the radius drawn at the point of contact are
perpendicular to each other.
OR
Prove that the lengths of the tangents drawn to a circle from an external point are equal.
32. A chord of a circle of radius 15cm forms an angle of 60° at the centre find the area of major and
minor segment
33. Find the mean of the following data by direct method.

Class-interval Frequency
5-15 1
15-25 3
25-35 5
35-45 4
45-55 2

OR
The weight of 30 students is given in the below frequency distribution table, Calculate the median
height of the class.

Weight 40- | 45- | 50-55 | 55- 60- | 65-70 | 70-75
(in kgs) 45 50 60 65
No of 2 3 8 6 6 3 2
students

V . Answer the following questions 4x4=16

34. Solve the pair of linear equations graphically2x + y =6 and2x-y=2.

35. State and prove “Thales Theorem”.
1+sinA +\/1—sin A
1-sinA V1+sinA
37. The sum of the 4" and 8" terms of an arithmetic progression is 24 and the sum of the 6th and 10 "

=2SecA

36. Prove that:\/

terms is 44. Find the first three terms of the arthematic progression.



OR

An Arthematic Progression consists of 37 terms. The sum of the three middlemost terms is 225 and
the sum of the last three terms is 429. Find the arthematic Progression
VI. Answer the following 5x1=5

38. The volume of a cylinder is equal to 5 times the volume of a cone. The cone's base radius and slant

height are 7cm and 25cm respectively. If the radius of the circular base of the cylinder is 14cm, then find
the cylinder's volume and curved surface area.
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Q1. Choose correct answer from the following questions

1) In an Arithmetic progression 2, 4, 6

a) 7
b) 8

8x1=8

........... then the 5" term is

c)9
d)10

2) In the pair of linear equation a;x + by + ¢; = 0 and a,x + b,y + ¢, =0, if% * %, then the
2 2

number of solutions are

a) No solution
b) One solution

3) The distance of a point (2, 3) from x-axis is

c) Two solution
d) Many solution

a)3 c)0
b) 2 d)5
4) HCFof 3and 7 is
a)5 c)1
b) 7 d) 35
5) The area of quadrant of circle of radius 7cm is
a) 36.5cm’ c) 72.5cm’
b) 24.5cm’ d) 38.5cm’
6) The degree of the polynomial x(x + 1) is
a)l c)3
b) 2 d)4 A

7) In the given figure the correct relation among the following

AD  AE AD  AE
aj—= — ===
AB  EC DB AC D E
b) A2 = AE d)42 _ DE
AB  AC AB  AE
8) The Mean of first 10 natural numbers is B c
a)5.5 c)8.5
b) 7.5 d)4.5



Q2. Answer the following questions 8x1=8

9) If the lines 2x + 3y — 9 = 0 and 4x + ky — 18 = 0 are coincident, then find the value of k.

10) In the given figure find the number of zeros of the polynomial P(x) v'a /\ //’\\ 5

11) Write the standard form of a quadratic equation

12) Find the zeros of the polynomial p(x) = 2x- 1
13) If 56 = 2* x 77 find the value of xand y y

14) What is the tangent of a circle? A /i\
15) In the given figure find sinA T— 13cm
5cm
16) Write the empirical relationship between the three measures of l_
central tendency. | . C
Bk 12 con >
Q3. Solve the following questions 8x2=16
17)3,1,-1........... find the 5™ term of the Arithmetic progression
OR
Find the sum of first 10 terms of the Arithmetic progression 2, 5, 8.................
18) Find the roots of the quadratic equation x? — 7x + 12 = 0 by factorization method.
19) Solve x and y by elimination method 2x + 3y = 14 and 2x + y = 10.
20) Write the formula to calculate total surface area and curved surface area of a cylinder whose radius is
r and height is h.
21) Find the value of y for which the distance between the points P (2, -3) and Q (10, y) is 10 units.
22) In the given figure, if OA.OB = OC.0OD show that LA=LCand LB =LD. A C
23) Two concentric circles of radii 5cm and 3cm
find the length of the chord of the larger circle which touches
the smaller circle. 0
24) Evaluate 2 tan? 45° + c0s230° — sin?60°.
OR D B
Evaluate sin60° cos30%+ sin30° cos60°.
Q4. Solve the following questions 9x3=27

25) Find the zeroes of the quadratic polynomial P(x) = 3x? - x - 4 and verify relation between the zeroes
and the coefficients.
26) Roshan’s mother is 26 years older than him and the product of their ages (in years) 3 years from now
will be 360. Find the Roshan’s present age.
OR
Find the two consecutive positive integers. Whose sum of squares is 365.



27) In a circle of radius 21cm an arc subtends an angle of 60° at the center. Find
(i) The length of the arc (ii) Area of the sector formed by the arc.
OR
A chord of a circle of radius 15cm subtends an angle of 60° at the center. Find area of the corresponding

minor and major segments of the circle (use 7 = 3.14 andv/3 = 1.73)

28) In what ratio the point (-4, 6) divide the line segments joining the points A(-6, 10) and B(3, -8)
OR
Find the ratio in which the line segments joining the points (-3, 10) and (6, -8) is divided by (-1, 6)
29) Prove that /3 is an irrational number
30) Prove that “The length of the tangents drawn from an external point of a circle are equal”

31) Prove that
sinA 1+c

(1+ cotA - cosecA) (1 + tanA + secA) =2 OR Treos + e 2 cosecA
32) Find the mean of the following grouped data
C.l 10-20 20-30 30-40 40-50 50-60
Frequency 2 3 5 7 3
OR
Find the mode of the following grouped data
C.l 5-15 15-25 25-35 35-45 45-55
Frequency 3 4 8 7 3

33) A bag contains 3 red balls, 5 white balls and 8 blue balls one ball is taken out of the bag at random. Find
the probability that the ball taken out is (i) A red ball (ii) Not a white ball

Q5. Solve the following questions 4x4=16

34) In an arithmetic progression the sum of 3™ and 6™ term is 20 and the sum of 9" and 12" term is 44. Find
the 25™ term of the arithmetic progression.

OR

In an arithmetic progression the 5" term is four more than twice the second term and the sum of 2™ and
4™ term is 16. Find the 10" term of the arithmetic progression.

35) Solve graphically x +y =6and 2x —y =3

36) A 6 feet tall man stands on a table. He observes a flower on the floor. The angle of depression of the
flower is 60° and the angle of elevation of the top of a table from the flower is 45°. Find the height of the
table.

37) In a solid a hemisphere is surmounted by a cylinder of height 5cm and the other end of the cylinder is
surmounted by a cone of height 3cm as shown in the figure. If the radius of the hemisphere is 7cm then
find the volume of the solid.

Q6. Solve the following question 5x1=5

38) State and prove Thales theorem (Basic proportionality theorem)
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l. Four alternatives are given for each of the following questions. Chose the correct
alternative and write the complete answer along with its letter of alphabet

1X8=8
1. The 10th term of the AP 5, 9, 13 ....is
A)36 B)31 C)41 D)21
2. The given linear pair of lines X-2y=0and 3X+4y-20=0are
A)Intersecting lines B)Coincident lines C)Parallel lines D)Perpendicular lines

3. The degree of the polynomial 4x* +3x3+2x—5is
A)l B)4 C)2 D)5
4. The standard form of the quadratic equation 2x2=x-7is
A)2x>—x=-7 B) 2x? +x—7=0 C) 2x*>-x +7=0 D) 2x* +x + 7=0
5. The coordinates of the midpoint of the line segment joining the points A (2,3) and B(4,7) are
A)(-3, -5) B)(1,2) C)(3,5) D)(6,10)
6. If the HCF of 72 and 120 is 24, then their LCM is
A)36 B)720 C)360 D)72

7. In the A ABC, XY|IBC then

p) A% 4C g) 4X _ AY _ _

A
/\\
7N
; «
AX XY AB AC \
— C)—=— D)—=— - \
AB  AY BX CY BX AY BX AY jy
8 c

8. The value of cot 90° is

A % B) 1 ) V3 D) 0
Il. Answer the following questions 1X8=8
9. If the nth term of an AP is a,, = 3n - 2 then find its 9th term. :
10. In the given figure find the maximum number of zeros. o / ES RS / &t
11. In the equation x+y =7 if x =3, then find the value of Y =

12. Write the formula for finding the length of an arc of a sector of a circle of radius r and angle 6.
13. Find the surface area of sphere of radius 7 cm.

14. State Thales theorem.

15. Write the maximum number of tangents that can be drawn to a circle

from an external point.

16. In the given figure find the value of 4£BAC



. Answer the following questions 2X8=16

17.

18.

19.

20.

21.
22.

23.

24,

IV.

Find the sum of first 20 terms of the AP 2, 5,8...
Solve 2x+y=8

x-y=1
Find the zeros of the polynomial p(x) = x?—15x + 50

OR

If p and q are the roots of the equation x> —3x + 2 =0 find the value of

< |-
Q| =

Find the distance between the points P (2,3 )and Q(4,1) using distance formula
OR
Find the coordinates of the point which divides the line joining the points A(1,6) and B(4,3) in the
ratio 1:2 internally.
Prove that V2 + 3 is an irrational number.
Find HCF and LCM of 24, 36 and 48 <.
In the given figure find the value of \ 2

12
1. sin@

2. tana

Find the mean for the given data 2,4,6,8,10.

Answer the following questions 3X9=27

25.

26.

27.

28.

29.

30.

Find the AP whose third term is 16 and its 7th term exceeds the 5th term by 12.
The altitude of a triangle is 6cm more than its base .If its area is 108 cm? find the base and height
of the triangle.

OR
Find two numbers whose sum is 27 and product is 182.
AB and CD are the arcs of two concentric circles with centre O of radius 21 cm and 7 cm
respectively. If ZAOB =30° as shown in the figure. Find the area of the shaded region CD 21 cm
Show that the triangle whose vertices are A( 8 ,-4) B( 9, 5) and C (0, 4) is an isosceles Tem \/
triangle. ?
Prove that lengths of tangents drawn to a circle from an external point are equal.
Prove that secO(1-sinB8)(secB+tanB) =1

OR

Evaluate 6 cos 600 - sin 30° + sin? 459 + cos? 45°



31. Find the arithmetic mean for the following group data

CLASS INTERVAL 0-2 |24 |46 |6-8 |8-10
FREQUENCY 2 6 8 3 1
OR

Find the mode for the following group data

CLASS INTERVAL 0-6 |6-12 | 12-18 | 18-24 | 24-30
FREQUENCY 2 9 15 12 5

32. A bag contains 3 red balls, 5 white balls and 8 blue balls. One ball is taken out of the bag at
random. Find the probability that the ball taken out is
1. red ball 2. not a white ball

33. A girl of height 90 cm is walking away from the base of your lamp post at a speed of 1.2 ms™. If

the lamp is 3.6 m above the ground, find the length of her shadow after 4 seconds

V. Answer the following questions 4X4=16

34. Solve graphically
X+2y=6
X+y=5
35. Prove that if in two triangles, corresponding angles are equal, then their corresponding sides are
in the same ratio and hence the two triangles are similar
36. The sum of the first three terms of an AP is 33. If the product of the first term and the third term
exceeds the second term by 29 then find the AP
OR
The sum of the 5th and 9th terms of an AP is 40 and the sum of the 8th and 14th term is 64. Find
the sum of first 20 terms
37. The angle of elevation of the top of an unfinished vertical building on a ground at a point which is
100 m from the base of the building is 45° . How much height the building must be raised, so

that it's angle of elevation from the same point be 60° ( take V3= 1.73)

VI. Answer the following questions 5X1=5

38. A medicine capsule is in the shape of a cylinder, with hemispheres stuck to each of its ends. The
length of the entire capsule is 14 mm and the diameter of the capsule is 5mm. Find its

surface area and volume.
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Q1. Choose correct answer from the following questions 8x1=8

1) The prime factors of 72 is

a) 24x3? c) 24X3?
b) 23X3? d)22x33
2)The common difference of an Arithmetic progression 4, 7, 10, 13....... is
a)3 c)7 y
b) 4 d) 10 b
3) Find the number of zeros of p(x) in the given graph is X4 \/’ T
a)l c)4
b) 2 d)5
4 Y
4) If SinA = o then CosecA is
a) /s )/
b) 2/ 4)5/19

5) The probability of an event always lies between

a)land?2 c)O0and-1
b) 2 and 3 d)0and 1

6) The empirical relationship between the three measures of central tendency is
a)3median = 2mode + 2mean c) 3median = mode +2mean
b)2median = 3mode + mean d ) median = 3mode +2mean

7) All triangles are similar

a) Isosceles c) Equilateral
b) Scalene d)Acute angled

8) Area of a sector of angle P(in degree) of a circle with radius R is

a)L 21mR c) L 2nR
180 360
b) — 7R2 d) — nR?
180 360
Q2. Answer the following questions 8x1=8

9) Find the HCF of 12 and 15



10) Find the missing term of an arithmetic progression 2 |:| 26

11) Reduce x (x + 3) = 4 to standard form of quadratic equation

12) Write the formula to calculate the mid-point of the coordinates of the line segment joining A(x1, y1)
and B(xz, y2)

13) If P (A) = 0.09, then find P(A)

14) In the given figure identify the secant.

15) Find surface area of the sphere whose radius is 7cm
16) Find the quadratic polynomial whose sum and product is 4 and 1 respectively.

Q3. Solve the following questions 8x2=16
17) Solve x and y by elimination method x+y=14andx -y =4
18) Find the sum of first 22 terms of an arithmetic progression §, 3, -2...........

19) Find the nature of the roots of the quadratic equation 2x? —3x +5 =0
OR
Find the roots of the quadratic equation 2x? + x — 6 = 0 by factorization method
20) Find the zeros of the polynomial x? + 7x + 10. and verify the relationship between zeros and
coefficients

0
21) Evaluate %
sec30%+cosec30
22) Find the coordinate of the point which divides the joining of (-1, 7) and (4, -3) in the ratio 2:3 internally.

OR
In what ratio does the point (-4, 6) divides the line segment joining the points A(-6, 10) and B(3, -8)
23) A box of 20 bulbs contains 4 defective once one bulb is drawn at random from the box. What is the
probability of getting a bulb is defective.
24) A girl of height 90cm is walking away from the base of lamppost at a speed of 1.2m/s. if the lamp post is
3.6m above the ground, find the length of her shadow after 4 second.

Q4. Solve the following questions 9x3=27
25) Prove that /3 is an irrational number

26) A fraction becomes 9/11, if 2 added to both numerator and denominator. If 3 is added to both

numerator and denominator it becomes 5/6' Find the fraction.
OR
Five years ago Nuri was thrice as old as Sonu, 10 years later Nuri will be twice as old as Sonu. How old
are Nuri and Sonu.
27) A train travels a distance of 480km at a uniform speed. If the speed had been 8km/h less, Then it would
have taken 3hrs more to cover the same distance. Find the speed of the train.
28) if x = rsinAcosB, y = rsindsinB and z = rcosA, then prove that x? + y? + z? = r?
OR

1+secA sin?A
Prove that =
secA 1—cosA




29) Check whether (5, -2) (6, 4) and (7, -2) are the vertices of an isosceles triangle

30) Find the mean of the following data

No.of plants 0-2 2-4 4-6 6-8 8-10 10-12 12-14
No.of houses 1 2 1 5 6 2 3
OR
Find the mode of the following data
Life time in hours 0-20 20-40 40-60 60-80 80-100 100-120
Frequency 10 35 52 61 38 29

31) In the figure, O is any point inside a rectangle ABCD such that OB = 6cm, OD = 8cm and OA = 5cm, find
the length of OC

D Q C
<&
<, +&
(D)
5 Cin S cm
A P B

32) Prove that “The length of the tangents drawn from an external point of a circle are equal”
OR
Prove that “The tangent at any point of a circle is perpendicular to the radius through the point of contact”
33) A horse is tied to a peg at one corner of a square shaped grass field of a side 15m by means of a 5m long
Rope. Find
()'The area of that part of the field in which the horse can grace
(1) The increase in the gracing area of the rope were 10m long instead of 5m (use T = 3.14)

Q5. Solve the following questions 4x4=16
34) If the sum of first 7 terms of an Arithmetic progression is 49 and that of its first 17 terms is 289. Find the
sum of first n terms of Arithmetic progression.
OR
If the sum and product of first three terms in an Arithmetic progression are 33 and 1155 respectively.
then find the value of its 11*" term.
35) State and prove Thales theorem (basic proportionality theorem)
36) The angle of elevation of the top of a tower from a certain point is 30°, If the observer moves 20m
towards the tower the angle of elevation of the top increases 15°. Find the height of the tower.
37) Solve graphically x +y =5and 2x —y =1

Q6. Solve the following question 5x1=5

38) A water bottle in the shape of a solid cylinder whose height is 2.4cm and diameter 1.4cm a conical cavity
of the same height and same diameter is hollowed out. Find the total surface area of the remaining solid
to the nearest cm?.
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Office of the DDPI, Bangalore (South) , Kalasipalya Bangalore -02
Class: 10thstd SUB: Science Model Paper TIME:3.15Hr Marks: 80

Sub: Physics (Part-A) Marks:27

I)Four alternatives are given for each statement. Choose the correct answer and write it
along with its alphabet : (1x3=3)
1.The reciprocal of focal length is called

a. refractive index b. power of lens c. radius of curvature d. centre of curvature
2. Observe the Dispersion of light in a figure what colour does a and b represents

a. Red and violet b. Violet and red

c. Red and Green d. Violet and green
3.Which bulb in the circuit should be removed so that all the circuit does not glow?

a.B1 b.B2 c.B3 d.B4
IT) Answer the following question: (1x2=2) @83

4. Red colour reflectors are used in highway roads or behind vehicles. Why?

1
5. The fuse wire in a circuit is always connected in series. Why? L'M'—(')J@_

III) Answer the following question: (2x2=4)
6. Write any two differences between concave mirror and convex mirror.
7. Define refractive index. The refractive index of A B and C medium are 1.50, 1.36, 1.77
respectively. In which medium speed of light is maximum, justify your answer.
IV) Answer the following question: (3x3=9)
8. Draw a diagram when an object is placed at 2 F1in front of a convex lens and explain the nature of
image.
9.a)What is meant by electric resistance? Mention factors on which resistance depends on.
b)State Ohm's law.
10. Explain the functions of the following parts of human eye a)Pupil b)Iris c)retina
[OR]
What is meant by myopia? Explain the causes for myopia.
V) Answer the following question (4x1=4)
11. In aresidence, five bulbs of 40 watt each are switch on for 4 hours per day. An electric water
heater 1.5 kilowatt is switched on for 2 hours per day. Calculate the cost of consumption of

electricity in a month of September.( 1IKWh =7 Rs)
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[OR]
A resistor of 4 ohms produces heat energy of 400 ] per second. Calculate
a) current flowing b) potential difference c) electric power
V) Answer the following question (5x1=05)
12. a) Explain an experiment to show that current carrying conductor experience a mechanical force
when placed in a magnetic field
b) Name the device which uses of this principle.

c) What is solenoid? Write its uses.

Sub: Chemistry(Part-B) Marks:25

VI)Four alternatives are given for each statement. Choose the correct answer and write it
along with its alphabet : (1x2=2)

13. In the following chemical reaction which substance is reduced
Cu0 + H; =————ep Cu + H20
a. CuO b. Cu c.H20 d.Hz

14.The salt which is used as antacid is

a.Naz2C0s3 b.CaCOCl2 c.NaHCOs3 d.CaS0O4 .H20
VII)Answer the following question:

15. What are homologous series?
16. Chips packets are flush with Nitrogen gas. Why?
17. The metals high up in the reactivity series cannot be obtained from their compounds by
heating with carbon . Why?
18. Light a Bunsen burner and adjust the air hole at the base to get different types of flames are
presence of smoke. When do you get yellow sooty flame?
VIII) Answer the following question: (2x3=6)
19. Draw a neat diagram showing HCl acid solution in water conducts electricity.
20. Draw a neat diagram showing electric refining of copper
21. The molecule of ammonia has the formula NH3 .Draw the electric dot structure for this
formula showing all four atoms achieve noble gas configuration.

[OR]
How would you name the following compound.

H H H

DDPIBa H—(C —(C— C —Br




IX) Answer the following question: (3x3=9)
22.What are the three types of chemical decomposition reaction. Give one example for each.
23.Samples of zinc, iron, magnesium and copper are taken in a test tube A, B, Cand D
respectively, when we add same amount of a ferrous sulphate to each test tube in which test
tubes will you observe the reaction and why give me the chemical reaction that takes place
24. The four solutions A, B, C and D shows pH 2, 8, 7 and 14 respectively,

a) Name the solution which has eye hydrogen ion concentration..

b) Name the neutral solution.

c) Name the strong base.
X) Answer the following question: (4x1=4)
25. a)Explain the mechanism of the cleaning action of soap.

b)How can ethanol and Ethanoic acid be differentiated on the basis of their physical properties?

Sub: Biology (Part-C) Marks:28

XI)Four alternatives are given for each statement. Choose the correct answer and write it
along with its alphabet : (1x3=3)

26. The functional unit of Kidneys are

a. nephron b. uretor c. urethra d. urinary bladder
27. Law of hereditary proposed by

a. Mendel b. Aristotle c. Darwin d. none of the above
28. Under the below tropics which one can formal food chain

a. grass wheat and mango b. grass tree and man

c. goat cow and elephant d. grass fish and goat

X II) Answer the following question:
29. What is reflection?

30. Define budding

X III) Answer the following question:

31. Write the different types of traffic moments in plants
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Write the different excretory process in plants
32. What is biomagnifications write any one of its effect on environment

33. Write the need labelled diagram of germination of pollen on stigma

XIV) Answer the following question:

34. Write the role of chemical enzymes in the human digestive system.
[OR}

Explain the structure and functions of nephron.
35. What is a sexual reproduction write different types of asexual reproduction
36. Higher order animals need more Oxygen and energy how human heart structurally helps in
supplying more Oxygen and energy.

[OR]
Why do oxygenated and deoxygenated blood to be separated especially in mammals
XV) Answer the following question: (4x2=28)
37. a. Differentiate between self pollination and cross pollination
b. How is the sex of the child determined in human beings?
38. Draw a neat diagram of cross section of human brain and label the following parts

a)Ponds b)Cerebellum.
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Office of the DDPI, Bangalore (South) , Kalasipalya Bangalore -02

Class: 10t"std SUB:_Science Model Paper TIME:3.15Hr  Marks : 80

PART- A PHYSICS

Multiple Choice Questions:

1)

2)

3)
4)

5)
6)

7)

8)

9)

SI Unit of electric Power 1

a) Volt b) Watt

C) Ohm d) Coulomb

The position of the object to be placed infront of convex lens, to get image equal to the
size of an object 1

a) ZFz b) Fz C) 2F1 d) F1

. Very short answer.

Define magnetic field.
Draw the symbol for following %%
a) Rheostat
b) Wire joint
Define Ohm’s law. 2
Draw a diagram to show the magnetic lines of forces around a straight current carrying
conductor 2
Define accommodation of eye? 2

OR

Describe the formation of a rainbow.

Yrsry O rm 3

SR

Observe the circuit which coil would have high induced electricity, when the plug key is

connected in the coil 2? Give your reason.
the radius of curvature of a rear view mirror used in a vehicle is 3.00 m, what is the
position of the image, if the bus is at 5.00 m from the mirror, what is the distance,
nature and size of image? 3
OR
The focal length 15 cm of a concave lens, an image is formed at 10cm. find the distance
of the object from the lens? Calculate the magnification of the object

10) What is Myopia? How do you correct the myopia. justify 4

11) a) Define joules Law of heating 4

b) Explain the working of fuse in an electric circuit



OR

a) Mention the factors of that resistance of a conductor depends
b) How is parallel connection advantageous over Series connection?

12) What is refraction of light ? state the laws of refraction
PART -B CHEMISTRY

FOUR ALTERNATIVES ARE GIVEN FOR THE FOLLOWING QUESTION.CHOOSE THE CORRECT ONE AND

ANSWER
13) The metal which displaces copper from copper sulphate solution

A) Mercury B)lron C)Gold D) Silver

14) 2FeSO4 ------- - Fe,03 + SO; +S03

The above chemical reaction is example for

A) Chemical combination

B) Chemical displacement

C) chemical double displacement

D) chemical decomposition

15) reason for using baking soda in the preparation of bread and cake
A) It releases CO; to and makes bread and cake Puffy

B) It releases H, and makes bread and cake Puffy

C) It releases H,0 and makes bread and cake Puffy

D) It releases HNO3 and makes bread and cake Puffy

s

—

AW
@>§2N&Y Chlovide-
Answer the following questions in one sentence each
16) Identify unsaturated carbon compounds among the following.
Butane, Ethene, Methane, Propyne.
17) Why the boiling point and melting point of common salt is high?
18) In the above diagram why silver chloride changes its colour?

Answer the following questions in 2 to 3 sentences each

1x3=3

1x3=3

2x3=6



19) Draw a neat diagram of electrolysis of copper and label anode mud
20) Translate the following statements into chemical equation and balance them.

a) Copper reacts with oxygen and forms copper oxide.
b) Sodium sulphate reacts with Barium Chloride and forms Barium sulphate and sodium chloride.

21) Draw a neat labelled diagram of reaction of Zinc granule with dilute sulphuric acid and testing of
hydrogen gas and label zinc granule

Answer the following questions 3x3=9
22) Give scientific reason for the following.

a) While diluting the acid, acid should be added to water.
b) We have to store plaster of paris in air tight container.
c) Antacid is used to treat indigestion.

23) You have given potassium, calcium and copper metal.How do they react with water? Explain.
OR
i Explain the extraction of Mercury from cinnabar
ii Write any one difference between calcination and roasting
24) Define the following
Esterification, Additional reaction, Substitution reaction
OR

What are structural isomers? Write the molecular formula and structure of the first member of alkane
which shows structural isomerism.

Answer the following questions 1x4=4
25) Write the electron dot structure of the following carbon compounds.

Methane, Ethene, Propyne, Carbon di oxide



PART - C BIOLOGY

XIl. Four options are given for the following questions or incomplete
statements. Choose the most appropriate answer among them & write.

3x1=3
26. The place from which the pyruvate decomposes and the water is

released
(a) Mitochondria (b) Cytoplasm
(c) Chloroplasts (d) Nucleus

27. A material that is biodegradable and does not harm the
environment

(a) Polythene bag (b) Plastic cup

(c) Plastic bag (d) Paper bag

28. The phenotypic ratio of Mendel's dihybrid cross
(a) 9:3 (b) 9:3:3:1

(c)3:1 (d) 9:1

Xl Answer the following questions in one word or sentence. 3x1=3

29. Who is called the father of modern genetics?
30. What is the type of asexual reproduction seen in the
following image?

31. Observe the following pictures and mention which one is helpful



for exchange of gases in leaves?

XIV. Answer the following questions in two or three sentences. 2x2 =4
32. How are arteries different from veins?
OR
Why does the heart have different chambers?
33. How do you reuse the leftover waste materials in your home
scientifically? Name any two methods.
XV. Answer the following questions. 3x3=9
34. a) Why it is necessary to separate oxygenated and deoxygenated
blood in mammals and birds?
b) What is the function of salivary amylase in the digestive tract?
OR
Describe the functions of the following parts of the nephron
(a) Glomerulus
(a) Bowman's capsule
(a) The collecting duct
35. Briefly explain monohybrid experiment or describe how Mendel's
experiments show characters of dominant and recessive traits.
36. Draw a neat diagram of the human brain and label the following
parts. (a) Cerebellum (b) Mid brain
XVI. Answer the following questions. 1x4=4
37. Justify the reason why the following are called so.
a) Thyroxine - Personality hormone
b) Pancreas-Mixed gland



c) Adrenaline - Emergency hormone
d) Pituitary-Master gland

XVII. Answer the following questions. 1x5=5
38. (a) What is sexual maturity? How does menstruation occur?
(b) List the physical changes that occur during puberty in boys and
girls? Give reasons for those changes.
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I

I

PART A: PHYSICS (Marks: 27)
Four alternatives are given for each statement. Choose the (1X2=2)

correct answer and write italong with its alphabet:

The lens used to correct when a person cannot see distant objects clearly is

(A) Concave lens (B) Convex lens (C) Bifocal lens (D) None of the above
A device used to change the resistance in the electric circuit is
(A) Voltmeter (B) Ammeter (C) Galvanometer (D) Rheostat
Answer the following questions :- (1X2=2)
State Snell's law of refraction
A person needs a lens of power -2.5D for correction of her vision.
What is the focal length of the corrective lens
Answer the following questions :- (2X3=6)
a) State Fleming’s left hand rule.
(b) Mention any 2 properties of Magnetic field lines.
(@) What are the functions of the earth wire?
(b) Why should we connect electrical appliances to earth wire in a domestic
circuit?
OR

What is fuse? Explain the uses of fuse in a circuit

AB is a current carrying rod and using the above set up the force on a current

carrying Conductor in a magnetic field is demonstrated. Observe the figure and

answer the questions that follow: -

A

Wored

(a) Name the metal rod.

(b) When is the displacement of the rod at its largest?
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IV

10.

12.

2| Page

(c) Which rule can be illustrated using the above activity?

Answer the following questions: -

Draw the ray diagram of image formation when the object is kept
between F, and 2F, of the convex lens with the help of the ray
diagram mention the position and the nature of the image formed
(F = principal focus of the lens)

(a) Explain the formation of rainbow in nature.

(b) Mention the colour that bends the least and the colour that
bends the most when light undergoes dispersion through a prism.

(a) Recognize the following symbols used in electric circuits

A SRS

(b) According to Joules law of heating, mention the factors on which
heat produced in a resistor depends & write the formula used to
calculate the heat produced.
Answer the following questions :-
(a) "Kerosene is optically denser than water" Justify the statement.
(b) Why do we prefer a Convex mirror as a rear view mirror in
vehicles?
(c) Concave lens has a focal length of 15 cm. At what distance should
the object from the lens be placed so that it forms an image at 10
cm from the lens?
(a) Define potential difference
(b) How is Voltmeter connected in an electric circuit?
(c) Explain the application of heating of electric current in an electric
bulb?

Or
(a) Explain the factors on which the resistance of a Conductor
depends.
(b) Why is it advantageous to connect electrical devices in parallel

instead of connecting them in series?

(3x3=9)

(4x2=8)

DDPI Bangalore South



VI.

13.

14.

VII.

15.

VIII.

16.

17.

IX.
18.

PART B - CHEMISTRY

Choose the correct alternative and write the complete answer (2x1=2)
along with its letter of alphabet.

Which of the following gas can be used for storage of chips for a long

time?

a. Oxygen b. Carbon dioxide c. Nitrogen d. Hydrogen
Dehydrating agent used in the conversion of Ethanol to Ethane is

a. Conc. H2SO4

b. Alkaline KMnOg4

c. Conc. HNO3

d. Acidified KoCr207

Answer the following questions (1x1=1)
Write the electron dot structure of Methane

Answer the following questions (2 x2 =4)

Observe the above given figure and answer the following questions

= Dzaker

Calcinim asidle
a. What type of chemical change do you observe when touching
the Beaker
b. Name the product formed when calcium oxide reacts with
water and write its chemical formula
White colour powder is adding to the water tank before it is used for
drinking. Write the name of the powder with its chemical formula
and why it is added to water before used for drinking?
Answer the following questions (3X3=9)
Balance the following chemical equations:
a. Na + H2O —---- NaOH
b. AgCl —-- Ag + Clp
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19.

20.

XI.
22.

4 | Page

C. Zn + AgNO3 —--- Zn(NOg)2 + Ag
Or

Ferrous sulphate decomposes with the evolution of a gas having a
characteristic order of burning sulphur. Write the chemical reaction
involved and identify the type of reaction. What is the reason of
changing the colour of ferrous sulphate crystals?
Write one example of the carbon compound with three carbon atom
containing following functional groups

a. Aldehyde

b. Ketone

c. Carboxylic acid

Or

Write any three differences between addition and substitution
reaction
Draw a diagram of the arrangement of operators to show the action
of steam on a metal and label the following parts

a. Delivery tube b. Metal Sample
Answer the following questions
a. Write the differences between calcination and roasting
b. Why hydrogen gas is not evolved when a metal reacts with nitric
acid?
c. Name two metals which react with dilute nitric acid and release
hydrogen gas
Answer the following questions
a. Explain the preparation of plaster of Paris with its balanced
chemical equation and write any two uses of it.
b. Write the balanced chemical equation showing the reaction
between plaster of Paris and water
c. Why does dry hydrochloric gas not change the color of dry
litmus paper?

PART C: BIOLOGY

(1X4=4)

(1X5=5)
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XII  Choose the correct answer from the given four alternatives and (4x1=4)
write the correct answer along with its alphabet
23 Which one of the following is not the unit of phloem?
(a) companion cells (b) sieve Tubes (c) tracheid’s (d) phloem fibres.
24 Identify the animal group which shows fission type reproduction.
(a) Amoeba, Hydra, Spirogyra
(b) Amoeba plasmodium leshmania
(c) Amoeba plasmodium Planaria
(d) Amoeba leshmania yeast
25 No two individuals are alike because of
(a) variations caused due to the recombination of chromosomes
(b) acquired characters
(c) transmutations
(d) all the above
26 Which one of the following is not a natural ecosystem?
(a) forests (b) parks (c)ponds (d)lakes.
XIII Answer the following questions: (5%1=5)
27 Name the bacterial diseases which spread through sexual contact
in human beings?
28 What are bisexual flowers? Give an example
29 Define the term variation
30 Which plant hormone is responsible for ripening of fruits and
shedding of leaves.
32 Why the culoidal cups made from clay banned?
XIV Answer the following questions (3%x2=6)
32. Draw the diagram showing germination of pollen on stigma and
label the part ovary
33. Write any four damages caused by the depletion of ozone layer.
34. “Father determines the sex of the child”- justify the statement.
OR
Why is the acquired character of an organism not inherited in their

offspring’s?
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XV  Answer the following questions: (3x3=9)
35. How is glucose broken down in the following situation in the

organisms?

(@) In the presence of atmospheric oxygen

(b) In the absence of atmospheric oxygen

(c) Lack of oxygen in muscle cells.
36. How is the small intestine designed to absorb digested food?

OR.
What is respiration? What advantages do the terrestrial organisms
have in respiring atmospheric oxygen

37. List out the components of reflex arc and explain with example.

OR.
How auxins influence the development of tendrils around the
support?
XVI Answer the following questions: (1x4=4)

38. Draw the diagram showing the vertical section of human brain and
label the following parts

(1) cerebellum (2) Pons

sk s s sfe ok sk sk skesie ke sk sk sk sk skoskoskosksk
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PART-A PHYSICS

Four alternatives are given for each of the following questions/ incomplete

statements. Only one of them is correct or most appropriate. Choose the
correct alternative and write the complete answer along with its letter of
alphabet 3x1=3
1) The relationship between current (1), Voltage (V) and resistance (R) is given by
A) V=1xR B) I=VxR C) R=Vx| D) V=I/R.
2) The human eye forms the image of an object at its.
A) Cornea B) Iris C) Pupil D) Retina.
3) Strength of an electromagnetic can increased by;
A) Using a thicker wire.
B) Using a stronger power supply.
C) Increasing the number of turns in the coil.
D) Bothbandc.
Answer the following Questions 2x1=2
4) Define Principal Focus of Concave Mirror.
5) Whatis the Range of Vision for a normal Human eye?

Answer the following Questions. 2x2=4
6) How can three Resistors of Resistances 2 ohms, 3 ohms, 6 ohms be
connected to give a total Resistance of 1 Ohm.
OR
Show how you would connect three Resistors, each of Resistance 6 Ohms, So
that the Combination has total Resistance of 9 Ohms.
7) What is the Function of Earth wire? Why is it Necessary to Earth Metallic
Appliances?

OR
What precautions should be taken to avoid the Overloading of Domestic
circuits?
Answer the following Questions 3x3=9

8) A person with a myopic eye cannot see objects beyond 1.2 m distinctly. What
should be the type of the corrective lens used to restore proper vision?
OR
A student has difficulty reading the black board while sitting in the last row what
could be the defect the child is suffering from? How can it be corrected?



VI.

VII.

VIII.

9) What are the magnetic field lines? Write any two properties of magnetic field
lines?

10) Draw the ray diagram to show the image formed by a concave mirror, when
the object is placed between C and F. Also, write the Nature, position and
Size of the Image formed.

Answer the following Questions. 1x4=4.
11) (i) State the Laws of Refraction of Light.
(ii) Why Convex Mirror is used Rear view Mirror in Vehicles.

Answer the following Questions 1x5=5

12) i) An Electric Heater of Resistance 8 Ohms drawn 15 A from the service
mains for 2 hours. Calculate the Rate at which Heat is developed in the
Heater
ii) What is Electric Fuse, Why is it called a Safety device?

PART-B CHEMISTRY
Four alternatives are given for each of the following questions/ incomplete

statements. Only one of them is correct or most appropriate. Choose the
correct alternative and write the complete answer along with its letter of
alphabet: 2X1=2
13) What type of reaction occurs when magnesium reacts with oxygen to form
magnesium oxide?
A) Decomposition reaction
B) Chemical combination reaction
C) Double displacement reaction
D) Displacement reaction
14) Which of the following is the saturated hydrocarbon?
A) Ethane B)Ethene C)Ethyne D) Benzene

Answer the following questions 4X1=4

15) Oil and fats containing food items are flushed with nitrogen. Why?

16) Name the salt used in soda-acid fire extinguisher?

17) Why hydrogen gas is not evolved when metal reacts with nitric acids?.
18) What is catenation?

Answer the following questions 3X2=6
19) Write the properties of ionic compounds
20) Why is photosynthesis considered as endothermic



XI.

XIl.

21) During the chlor-alkali process, chlorine is produced at one of the
electrodes. At which electrodes is chlorine produced and why?.
.Answer the following questions 3X3=9
22) Balance the following chemical equations.
(a) NaOH + H,SO4»> Na,SO, + H.0O
(b) NaCl+ AgNOs; > AgCl+ NaNO;
(c) BaCl; + H,SO,~»> BaSO, + HCI
OR
Translate the following statements into chemical equations and balance them.
(a) Potassium metal reacts with water to give potassium hydroxide and Hydrogen
gas.
(b) Hydrogen sulphide gas burns in the air to give water and sulphur dioxide.

23) a) Why does tooth decay starts when the pH of the mouth is lower than 5.5?
b) You have two solutions A and B. The pH of solution Ais 4 and pH of solution
B is 10. Which solution has more hydrogen ion concentration? Which of this
is acid and which one is basic?

24) Draw a neat labelled diagram of action of steam on a metal and label delivery
tube. Name the gas evolved during this process.

Answer the following questions 1x4=4

25) (a) Draw an electron dot structure of ethane.
(b) What is hydrogenation called addition reaction?

OR
(a) Write the molecular formula and structural formula of first member of ketone
group.
(b) A mixture of oxygen and ethyne is burnt for welding. Can you tell why a
mixture of ethyne and air is not used?

PART-C BIOLOGY
Four alternatives are given for each of the following questions/ incomplete

statements. Only one of them is correct or most appropriate. Choose the

correct alternative and write the complete answer along with its letter of

alphabet. 3x1=3

26) The correct path of the movement of nerve impulses in the following diagram
is

A) Q>S>R>P
B) BIP>Q->R~>S



C)S>R>Q~>P
D)P>R>S>Q

27) A pure dominant pea plant producing round — yellow seeds is crossed with
pure recessive pea plant producing wrinkled — green seeds. The number of
plants bearing round — green seeds in the F, generation of Mendel’s
experimentis

A)O B) 1 C)3 D)9
28) The materials that change slowly their form and structure in the environment
are
A) Plant fibers B) Peels of vegetables
C) Waste papers D) Used tea leaves
Xlll.  Answer the following questions. 2x1=2

29) Observe the given below figures :

Fig. (i)

a) Which figure indicates the massive amount of exchange of gases? Why?

30) What is the role of abscisic acid in plants?

XIV. Answer the following questions. 3x2=6
31) Mention the function of the following glands
a) Thyroid gland
b) Pituitary gland
32) Draw the diagram showing the germination of pollen on stigma and label the
part on which pollination takes place.
33) Mention any two effects of ozone depletion.

XV. Answer the following questions. 3x3=9
34) How the functions of arteries, veins and capillaries are interrelated in the
circulation of blood?
OR
How does transportation of water take place over the heights in a plant?
35) Explain the significant function of each structure in human male reproductive
system.
OR



XVI.

Explain the structure and important role of placenta during gestation period in
the woman.

e Mendel crossed plants bearing red flowers (RR) with the plants bearing white
flowers (rr) and produced progeny from them. The plants with red flowers
obtained in F, generation were different from the plants with red flowers of
parental generation. Why? Explain with reasons.

Answer the following questions. 2x4=8
36) Draw the diagram showing the sectional view of the human heart. Label the
following parts.
a. Aorta
b. Chamber of heart that receives deoxygenated blood.
37) Define the terms given below
a) Geotropism
b) Thigmotropism
c) Chemotropism
d) Hydrotropism
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* Multiple choice questions. 2x1=2

1. Commercial unit of electricity

(a) Watt (b) Kilowatt (c) Kilowatt/hour (d) Ampere

2. Focal length of a spherical mirror is times radius of curvature

(a) twice (b) half (c) equal (d) three times

* Answer the following. 2x1=2

3. State Fleming's left hand rule
4. Identify the defect in the given diagram

* Answer the following. 3Xx2=6
5. What is hyper metropia? Which lens is used to rectify this defect ?
6. What are the causes for overload ?
OR
What is the function of earthing wire? In domestic circuits electric appliances with metal body
requires earthing wire. Why? Explain.
7. The potential difference across the resistor is VV proportionally electric current I varies as following
in the table

Il |20 |30 4.0

vV |10 |20 3.0

Construct V/I graph and calculate the resistance of the conductor

* Answer the following. 3x3=9
8. Draw a ray diagram to show the image formation in a concave mirror when the object is placed
between C and F. Explain the nature size and position of the image
9. Give reason :
(a) Red color lights are used to indicates stop in electric traffic signals
(b) Astronauts in space sees sky black in color but not in blue why?
OR
Sun shines but starts Twinkle why. Justify this statement.
10. (a) Explain the measures to be taken to prevent short circuit in domestic wire.
(b) When you visited your friend’s house you have found that earthing is not done. Suggest your
friend about earthing and its importance.

* Answer the following. 2x4=8
11. (a) A concave lens has focal length of 15 CM at what distance should be object from the lens be
placed so that it forms an image at 10 cm from the lens.

(b) Write differences between concave and convex lens
12. (a) What are the advantages of parallel connection rather than series connection in electric circuit
(b) How ammeter and voltmeter are connected in an electric circuit and write their functions.
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Chemistry

* Multiple choice questions. 3x1=3
13. The chemical name of quick lime is

(a) Calcium Hydroxide (b) Calcium oxide  (c) Calcium carbonate (d) Calcium chloride
14. A non-metal that conduct electricity

(@) Sulphur (b) Phosphorus (c) lodine (d) Graphite

15. An aqueous solution turns red litmus solution blue excess addition of which of the following
solution would reverse the change

(@) Hydrochoric acid (b) Milk of magnesium see

(c) Baking powder (d) Ammonium hydroxide solution

* Answer the following questions. 3x1=3
16. Write the molecular formula of first two members of homologous series having the functional
group -Cl.

17. Write the properties of gold which makes it is suitable metal for making ornaments.
18. In the following figure why is the amount of gas collected at cathode double the gas collected at
anode

/’ﬂPI;

N
_Lan ]

* Answer the following questions. 3Xx2=6
19. Draw any diagram to show the reaction of Zinc with dilute sulphuric acid
20. List the measures to prevent rancidity?
OR
Differentiate between oxidation and reduction
21. Draw a neat labelled diagram of electrolytic refining of copper

* Answer the following questions. 3x3=9
22. (a) What are structural isomers?

(b) Name the organic compound and also mention to which class of compounds does it belong .
23. Explain the ionic bond formation and magnesium chloride along with its electronic dot structure

OR

Give reasons :
(@) lonic compounds have high boiling point and melting points.
(b) lonic compounds conduct electricity in molten state
(c) Silver articles become black when exposed to air.
24. A compound P forms the enamel of teeth. It is the hardest substance of the body. It does not
dissolve in water but gets corroded when the pH is lowered below 5.5.
(a) ldentify the compound P
(b) How does it undergo damage due to eating chocolates and sweets. What should we do to prevent to
decay ?
25. Distinguish between esterification and saponification reaction with the help of chemical equations
for each. State one use of each of a) esters b) saponification process
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Biology

* Multiple choice questions. 3x1=3
26. The part of human reproductive system which produce sperms is
(a) Testis (b) Prostate gland (c) Vasdeferens (d) Bladder

27. The energy available for the producer in the given food chain is 50000J. The amount of energy
available for the third trophic level is

(a) 50000J (b) 5000 J (c) 500J (d) 5J

28. Sowmya given birth to a male child. The sex chromosome that the child got from his father

(@ X (b)Y (c) XYy (d) YX

* Answer the following. 3x1=3

29. Draw a neat labelled diagram of open stomata and label guard cell.
30. Identify the given diagram and name the type of reproduction in it.

31. Which part is selected by Mendel for his experiments ?

* Answer the following. 2x2=4
32. What are the methods used by plans to get rid of their wastes?
33. Explain the formation of Ozone layer along with the equation

* Answer the following questions. 3x3=9
34. (a) What is mensuration?

(b) Name the different contraceptive methods followed in human being?

OR

(a) What is pollination?
(b) Name the factors which causes pollination
(c) Name the part of a flower which develops into fruit
35. How do Mendel’s experiments show that traits are inherited independently?
36. Draw a neat labelled diagram of LS of human brain and label pons and cerebellum

* Answer the following. 1x4=4
37. (a) The length of a small intestine of X and Y animal are given in the below table. Observe the
table and answer the given questions

animals | Approximate length of small intestine

X 20 to 40 feet

% 5 to 8 feet

Identify the herbivorous and carnivorous and confirm your decision along with scientific reason.
(b) A child who is playing in a dim light afraids by seeing a rope and thinking it as a snake. How the
child’s by prepare him itself to face this situation. Justify with scientific reason

OR
(@) Anil is a student who grown very taller when compare to his classmates. What is his condition
called? Which hormone is responsible for this ?
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(b) When Arathi touches a leaf of Touch Me Not plant it started folding its leaves ? Explain with
reason for this reaction

* Answer the following. 1x5=5
38. (a) Explain the different methods production of energy by The breakdown of glucose.

(b) How is small intestine design to observe the digested food ?

(c) What is the role of hydrochloric acid produced in stomach in digestion ?
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OFFICE OF THE DEPUTY DIRECTOR FOR PUBLIC INSTRUCTION
BANGALORE SOUTH DISTRICT, KALASIPALYA, BANGALORE.
SUB: SOCIAL SCIENCE
MODEL PAPER-1

I. Four alternatives are given for each of the following questions/incomplete
statement Only one of them is correct or most appropriate. Choose the
correct alternative and write the complete answer along with its letter of

alphabet.
8X1=8
1. The phrases ‘Secular’ and ‘Socialist’ were added by this Constitutional
ammendment,
A) 73“amendment B) 17"amendment
C) 42"%amendment D) 21%%amendment

2. Narayana Guru and his companions started ‘Vaikom Satyagraha
Movement’ aiming to
A) Entry to Temples B) Give Foreign Education
C) Stop women harassment D) Eradicate Sathi System
3. Father of ‘Public Administration’ is ................
A) Woodrow Wilson B) Luther Gulick C) Fifaner D) F.M.

Marx

4. The below group belongs to Un-Organised sector

A)Teacher B) Soldier C)Agriculturist D) Doctor
5 The area receiving very less rainfall in the country is ..............

A) Drass B) GanganagarC) MawsynramD) Ruyli
6. ‘Tea Port” of India is ......ccecveneeen.

A) Mumbai B) Ganganagar C) Culcutta D) Ruyli
7. Drastic increase in production of food crops is called as ...........

A) Green Revolution B) Blue Revolution

C) White Revolution D) Yellow Revolution
8. This type of account is opened for a fixed period ...................

A) Savings account C) Current account

C) Recurring account D) Fixed Deposit

Answer the following in one word or in a sentence each. 8x1=8

9. In Indian History the 18th century was considered as “The century of
political chaos.” Why?

10.Which is the first state to be formed based on language?

11.Which are the points became hindrance in the unity of SAARC?

12.Define Division of Labour.

13.What is Female Foeticide ?

14.Why was National Electric Grid established?

15.Write the Formula of Fiscal deficit.

16.What is the objective of establishing District Industrial Centres?



lll. Answer the following questions in two to three sentence each: 8x2 =16
17.What are the reasons for First Anglo-Maratha war?
18.‘Nazi ideology destroyed Germany’. Analyse.
19.Explain the importance of Public Administration.
Or
Write any four achievements of UNO
20. Explain the importance of Women Self Help Group in women
empowerment?
Or
Mention the effects of Child Labour.
21. “Deccan Plateau is very important in India’s Economical Development.”
Explain
22. List any four factors necessary to cultivate paddy.
23. What is Pre-Harvest technology?
24. Write four objectives of Consumer Protection Act.

IV. Answer the following in five/six sentence each: 9x3=27
25.“Marthanda Verma was the reason for the fall of Dutch in India” Justify
the Statement.
26.Explain the important features of ‘Montague-chelmsford Reforms Act’.
27.What are the Principles of Indian Foreign Policy?
28.What are the Constitutional and Legal measures taken by the
Government to eradicate un-touchability?
29.What were the demands put forward by m\Moderates to the British?
30.Forests are very useful to mankind and environment. substantiate
31.What are the factors influence the location of industries ?
Or
Explain the effects of Earthquake.
32.How can you prove that, Post offices also works as a Bank?
OR
Entrepreneurs part is very important in Economic Development of the
country. Justify
33.Gram Panchayaths play a significant role in development of villages.
How?
OR
Differenciate between Private Finance and Public Finance.



V. Answer the following in ten sentence each : 4x4=16
34.Indian soldiers failed in First war of Independence. Explain
OR
Chikkadevaraja Wodeyar was good administrator. Justify this statement.
35.Explain the role of Subhash Chandra Bose in War of Independence.

36.List out the steps taken by the government to empower gender
minorities.

37.Explain the Soil conservation methods.

VI. 38.In the outline map of India provided to you mark any five among the
following: 1+4=5
A) 23 % North Latitude B) Kempegowdalnternatinal airport
B) Kosi Project D) Bombay High
E) Aravali mountains F) Indira kol G) Narora



OFFICE OF THE DEPUTY DIRECTOR FOR PUBLIC INSTRUCTION
BANGALORE SOUTH DISTRICT, KALASIPALYA, BANGALORE.
SUB: SOCIAL SCIENCE
MODEL PAPER-2
I. Four choices are given for each of the following questions /
incomplete statements. Choose the correct answer and write the
complete answer along with its letter of alphabet.
8x1=8
1. In Italy the Fascist leader was
(A) Hitler (B) Mussolini (C) Hindenberg D) Goebbals
2. The Governor General who implemented the Subsidiary Alliance
System was
(A) Lord Dalhousie (B) Lord Cornwallis
(C) Lord Wellesley (D) Lord Bentinck
3. The World Parliament of the UNO is
(A) General Assembly (B) Trusteeship Council
(C) Security Council (D) Secretariat
4. The Prohibition of Child Labour Act came into practice in the year

(A) 1966 (B) 1976 (C) 1986 (D) 1996
5. The example of Indirect tax
(A) Income tax (B) Corporate tax

(C) Wealth tax (D) Goods and service tax
6. The word entrepreneur is derived from the
(A) French word (B) Italian word
(C) German word (D) Spanish word
7. The wonder metal of the 20' century is

(A) Manganese (B) Mica (C) Bauxite ore (D) Iron ore
8. The major project of Karnataka is
(A) Hirakud Project (B) Nagarjuna sagar Project

(C) Tungabhadra Projec (D)Upper Krishna Project

Il.Answer the following questions in a sentence each : 8x1=8

9.  Why do you think Minto-Morley Act was implemented by the
British?

10. Name the treaty concluded after the Second Anglo Mysore war.

11. What happens if Public administration does not function properly?

12.  What does the Right to Education Act of 2009 guarantees?

13. Where did Chipko movement took place?

14. The north Indian mountains regions and the Peninsular Plateau are
cooler in summer. Why?

15. Give an example for Nationalized Bank.

16. Who is the Father of Indian Economic Planning?



Il . Answer the following questions in two to four sentences / points each:
8x2=16
17. Mention the measures taken by India to protect human rights.
OR
What are the functions of UNESCO ?
18. What do you mean by the word Prejudice?
OR
Who led Narmada bachao movement and why ?
19. How did the Doctrine of Lapse support the expansion of British
empire in India?

20. What were the problems of faced by India after Independence?
21. List out the reasons for the destruction of forests.

22. What are the factors influencing location of Industry?

23. What are Direct Taxes?

24. Mention the different stages of Consumer Courts.

IV. Answer the following questions in sixsentences / points each: 9 x 3 =27
25. What are the contributions of Swami Vivekananda to the society?
OR
What were the causes for the world war second?
26. How can we prevent soil erosion in India?
OR
‘There is a need for conservation of forests in India’-why?
27. Briefly summarize the achievement of five year plans.
OR
‘Women self help groups plays a significant role in organizing poor
rural women’-  How?
28. What are the advantages of opening a Bank Account?
OR
Make a list of promotional organisations of entrepreneurs.
29. Explain the causes of the Battle of Plassey?
30. ‘Profiteering results in various negative consequences’-How?
31. Differentiate between Organised workers and unorganised workers.
32. List out the uses of Remote sensing Technology.
33. Discuss the Surpura rebellion in brief.

V. Answer the following questions in about eight sentences / points

each: 4x4=16

34. British education system created a new generation of Indians with
progressive attitudes’- Justify the statement.



OR
The first war of Independence of 1857 failed due to various reasons-
Substantiate.
35.Give an account of the achievements of Subhash Chandra Bose in the
independence struggle.
36. Explain Luther Gulick’s scope of public administration as given in the
word
‘POSDCORPB’.
37.How is cultivation of Paddy different from cultivation of Wheat?

VI. 38. In the outline map of India provided to you mark any five among

the following : 1+4=5
a)Bhakra Nangal e) Bangalore
b)Surat f) Mawsynram

c)Vishakapatnam g) Navasheva
d)Digboi.



OFFICE OF THE DEPUTY DIRECTOR FOR PUBLIC INSTRUCTION
BANGALORE SOUTH DISTRICT, KALASIPALYA, BANGALORE.
SUB: SOCIAL SCIENCE
MODEL PAPER-3
I. Four alternatives are given for each of the following questions/incomplete
statement Only one of them is correct or most appropriate. Choose the

correct alternative and write the complete answer along with its letter of
alphabet.

8x1=8
1. The Dual Government policy was implemented in Bengal by

a) Munro b) Robert clive c) Sir Eyre coote d) Thomas Roe
2. Acall “Back to the Vedas” was given to the society by
(a) Rajaram mohan Roy (b) Swami vivekananda.
c)Dayananda Sarswathi (d) Mahathma Jyothiba phule,
3. The father af Public Administration was.
a) Luther Golic b) Abraham Lincoln c¢) Woodrow Wilson d) Churchil
4. "Truly the whole mankind is one” was stated by
a) Ranna b) Pampa c)Janna d) Basaveshwara
5. Dowry prohibition Act was implemented in the year
a) 1960 b) 1962 c) 1998 d) 1988
6. The chairman of NITI Ayog is
a) President b) Vice president c) Prime minister d) Governor
7. The place which receives highest rainfall in India is
a) Mawsynram b) chirapunji c) Agumbe d) Royli
8. The world consumers Day is celebrated on
a) March 20th b) January 26" c) December 10th d) March 15

Il. Answer the following questions in one word or a sentence: 8X1-8
9. Who introduced ‘Blue water policy’?

10. Which Treaty was signed after the Second Anglo-Mysore war?

11. In which year the ‘Right to Information Act’ was implemented?

12. What do you understand by the term foreign policy?

13. Whatis a ‘Mob’?

14. Explain the term Unemployment.

15. What are Lagoons?

16. Who is considered as ‘The Father of Planning Commission’?



lll. Answer the following in 2 or 3 sentences each: 2x8=16
17. Name the provinces taken over by the British under the policy of ‘Doctrine
of Lapse’.
18. What are the contributons of Swami Vivekananda to Indian Society?
OR
List out the problems faced by India after independence.
19. Explain the effects of Second World War.
OR

Which are the basic components of India’s Foreign Policy?
20. What are the measures taken by the government to eradicate the problem

of Unemployment?
21. Mention the environmental movements in India.
22. List out the uses of Black soil.
23. Name the hydro electric power projects in Karnataka.
24. Mention the steps taken to tackle terrorism in India.
lll . Answer the following in 6-8 sentences : 9X3=27
25. Distinguish between the savings account and current account.

OR

What are the characteristics of Entrepreneur?

26. What is the role of Panchayat Raj Institutions in rural development of India

OR
Recognise the theme of “POSDCORB”.
27. What are the measures to undertake to improve the status of woman by
the Government
OR
Explain the constitutional and legislative measures to eradicate the
problem of untouchability?
28. What are the effects of the problem of child labour?
29. Distinguish between the war of Plassey and Buxar?
OR
Substantiate the contributions of Krishnaraja Wodeyar IV in the
development of Mysore?
30. List out the reasons for the failure of the first war of Indian Independence?
31. Name the west coast ports and east coast ports.
32. Explain the effects and precaution measures to take at the time of the
earthquake.
33. “Now-a-days post offices are giving the more services to customers”
Explain.



V. Answer the following into eight sentences or points. 4X4=16

34. “The role of Mahatma Gandhiji, in the Indian freedom struggle is
outstanding” Explain

35. Explain the achievements of U.N.O?

36. Mention different types of agriculture followed in India?

37. “Cyclones are very destructive” Substantiate this statement?

V1. 38. In the outline map of India provided to you mark any five among the

following : : 1+4=5
a) 82710 E longitude b) Hatti gold mine ¢) Ganganagar

d) Pampa sagar e) New Mangalore port f) Indira point
g) Gulf of Mannar



OFFICE OF THE DEPUTY DIRECTOR FOR PUBLIC INSTRUCTION
BANGALORE SOUTH DISTRICT, KALASIPALYA, BANGALORE.
SUB: SOCIAL SCIENCE
MODEL PAPER-4

I. Four alternative answers are suggested for each of the following questions
or incomplete statements. Choose the correct answer among them, write the

full answer with the alphabet. 8X1=8

1. Third Angla Mysore war was ended with Treaty of

a) Madras Treaty b) Mangalore treaty
c) Salbai Treaty d) Srirangapatna treaty
2. Hitler's mass massacre was called as
a) Gobbels b) Nuramburg
c) Holocaust d) Stalinguad
3. The body which is solving International disputes through peaceful means
a) Security Council b) International Court of Justice
c) General Assembly d) Secretariat

4. The act which is implemented by the government of India to tackle
sexual assaults on children
a) Right to education b) POCSO Act
c) Dowry prohibition Act d) Female feticide Prohibition Act
5. The rain occurs during the summer season in Kerala is known as
a) Mango showers b) Coffee Blossom
c) Kal Baisakhi d) Andhis
6. The Sorrow of Bihar is
a) Damodar River b) Mahanadi c) Rehand d) Kosi
7. The first one to won the ‘World Food Prize’ award was
a) Dr.NormanBorlog b) Dr.M.S.Swaminathan
c) Sir.M.Vishwershwaraiah d) Verghese kurian
8. Raju planned to purchase a car in future which type of account you
suggest him to open?
a) Savings bank account b) Fixed deposit
c) Recurring deposit d) Current account

Il. Answer the following questions in one sentence each.
8x1=8
9. What is Dual government?
10. What is the immediate reason for the First world war?

11. Nehru is known as the “Father of Indian foreign policy”.Give reason.



12. Why did Dr.ShivaramKaranth agitated against the nuclear power
project at Kaiga?

13. When was Dowry prohibition Act enacted?

14. Which metal is called as “Wonder metal of 20th century”?

15. What is principle of progressive taxation?

16. How the entrepreneurs improve the standard of living of people?

lll. Answer the following questions in four sentences. 8X2=16
17. What were the results of Battle of Buxar?

18. How the Hyderabad province merged with Indian Union?
19. Differentiate between direct recruitment on indirect recruitment?
OR
What are the challenges rose soon after Second world war?
20. Untouchability is a social evil. How?
OR
Explain Chipko Movement.
21. “Roads play important role in the economic development of India”.
lllustrate
22. Cyclones are very destructive to nature and humans. Analyse.
23. Explain the second green revolution or perpetual Green Revolution.
24. Mention the aims of consumer protection act?

IV. Answer the following questions in six sentences. 9X3=27
25. How the subsidiary Alliance controlled the native rulers?

26. “Swami Vivekananda was inspiration to youth”. How.
27. lllustrate the ill effects of economic policies of British on Indian
economy.
OR
India faced several challenges soon after independence. Give reasons.
28. List the achievements of UNO.
29. Unemployment posted serious problems on country. lllustrate the
statement.
30. What are the reasons for soil erosion?
31. "Horticulture has gained importance in recent years in India”. Give
reasons.
OR
Which are the factors influenced the location of industries?
32.Explain importance of rural development briefly.
OR



Differentiate between personal finance and Public Finance.
33.Which are the services provided by post offices?
OR
Entrepreneurship is a creative activity. How?

V. Answer the following questions in eight sentences. 4X4=16

34.British education system as created a new generation with progressive
attitude. Justify
OR
“Krishnaraja Wodeyar IV was maker of modern Mysore”. Justify the
statement.
35.Explain the programmes launched during non-co-operation movement.
36.What are the measures taken to eradicate the discrimination of gender
minorities?
37.“Forests play important role in the environmental protection”. Justify.

VI.38.In the outline map of India provided to you mark any five among the
following : 1+4=5

a)231/2° Tropic of cancer b)Ruyli c)BasavaSagar d)Kandla
e) Kandla f) Mumbai  g) K2 h) Narmada river



OFFICE OF THE DEPUTY DIRECTOR FOR PUBLIC INSTRUCTION
BANGALORE SOUTH DISTRICT, KALASIPALYA, BANGALORE.
SUB: SOCIAL SCIENCE

MODEL PAPER-5
I. Four alternatives are given for each incomplete statement. Choose
the correct answer and write it with its respective alphabet:
8X1=8
1. The Governor General who integrated Punjab into the British empire

was:
a) Lord Dalhousie b) Lord Wellesley
c) Lord Cornwallis d) Robert Clive
2. First world war was ended with this treaty:
a) Treaty of Paris b) Treaty of Versailles
c) Treaty of Bassein d) Treaty of Aix-la-Chapelle

3. This country is committed to the policy of "Non-Proliferationof
Nuclear Weapons"

a) North Korea b) Russia c) China d) India
4. The leader of the agitation against the Kaiga powe project is
a) Baba Amte b) Sundarlal Bahuguna
c) Dr.Shivaram Karanth d) Medha Patkar
5. The head of the NITI Aayog in India is:
a) Prime Minister b) President
c) The Vice President d) The Speaker
6. During summers, the temperature in North India is very high due to
a) Latitude b) Pressure
c) Direction of winds d) Height above sea level
7. Indian government established National Highway Authority India in the
year

a) 1991 b)1960 c) 1988 d)1953
8. The objective of establishing District Industrial Centres was:
a) Establishing industries in urban areas b) Establishing industriesin rural

areas
c) To promote entrepreneurs d) To encourage large-scale
industries.
Il. Answer the following questions in a word/sentence each: 8X1=8

9. Why Constantinople is considered as the “Gateway of European
Trade”?

10. Where is Teen Murthy Bhavan?
11. Which organ of the UN which is called as the World Parliament?
12. “Truly the whole mankind is one”, Who said this?

13. Who is the father Indian Renaissance?



14. What is mob?
15.Which is the longest dam of India?
16. What is post-harvest technology?

lll. Answer the following questions in three to four sentence each: 8X2=16

17. Which are the factors that led to discovery of a new sea route to
India?

18. How was Goa liberated from the Portuguese?
19. What are the effects of terrorism?
OR
Which are the permanent members of security council?
20. Untouchability is a social evil. How?
OR
What are the differences between paid work and unpaid work?
21. Conservation of soil is present need.lllustrate.

23. Which are the Non-conventional power resources?
22 . Mention the four types of deficit finance.

24. Name any four consumer rights given by consumer protection act
of India.

IV. Answer the following questions in five to sixsentence each: 9X3=27
25 Which are the conditions of subsidiary alliance system?
OR
List out the impact of British Education.
26. Explain the reformations propagated by SatyaShodak Samaj,

27. The revolt of 1857 gave new route to Indian freedom movement.
[llustrate.

28. Differentiate between direct recruitment and indirect recruitment.
29. Give reasons for child labour.
30. Which are the types of natural vegetation of India?
31. What are the effects of earthquakes?
OR

Which are the factors influencing the location of industry?



32. Panchayat Raj Institutions plays an important role in rural

development. Justify.

OR

How western ghats are different from eastern ghats?

33. Write the services provided by a Bank.

V. Answer the following in eight to ten sentences each: 4X4=16
34. Explain the achievements of Krishna Raja Wodeyar IV.

35. Describe the role of Balgangadar Tilak in freedom movement of

India.

OR

Describe the tribal revolts in the Indian freedom struggle.

36. What initiatives have been taken to eliminate discrimination of
gender minorities?

37. Now-a-days horticulture plays an important role in the economic
development. Justify

38. In the outline map of India provided to you mark any five among the
following : 1+4=5
a) Tunga Bhadra Project b) 821/2°Eastlongitude

c) Bombay High d) Netaji Subash Chandra Bose International Airport
e) Malabar coast f) Paradeep h) Kaiga
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